BIMHKE

KATAAOIOZ
CUTTING TOOLS




MEPIEXOMENA | CONTENTS

KovtUAla-pECeg cnc| routers cnc

tpundvia noAutpunavou |drill bits

TpuUNdvia uy. napaywyikaeneag |solid carbide tools
epyadeia pe Biapdvti| diamond tools

E————S

| guatrpata guykpatrigewg| tool holders






Al

A
L{j

(OV '

K

Cch

Ge

)

Q.
C _J.
-




CHIPBOARD GLUED-UP WOOD HARDWOOD

Hoplocavida EUAO pe KOAAa okAnpo &uho

SOFTWOOD
HaAako EUAo

KaAr)/good
[ % moNd kaNj/very good
[ #  1é\elo/excellent

V1= otdvrap nowdtnta mAakdiwv/standard grade
V0, V2, V3= noldtnteg mAakdiwv katdmiv apayyehiag/special grade upon request

Eldikéq napayyeAieg yivovral dekTéG ue TNV mpookduton, delyuatog riaxidiou i deiyuatog EUAou.

Special orders are available upon request. Blank sample or wood sample are required.



KQAIKOZ D L S d Z
6001-001030 30 93 50 20 2
30 93 50 20 2

6001-001030-1

' 15.5 '
l 15.5 '
D

“
ﬁ

}

-
(=]
[52)
(=)
b
(=]
o

v
-
o
(=]
©

T

}

6001-001040 |

KQAIKOZ L S d y2
6001-001040 40 93 50 20 2
6001-001040-1 40 93 50 20 2
KQAIKOX NEPIFTPAGH TEM
e
SL-001030 ANT/KO 15x20x2 2
SL-001030-1 ANT/KO 15x20x2 2 J
y SL-001030
i
SL-001040 ANT/KO 20x20x2 2 N
SL-001040-1 ANT/KO 20x20x2 2 V/ J
SL-001040
94-03-002 BIAA A KONTYAIA M4x6 2 }m

Ny

-\
|

2 SL-001030-1

-

":J SL-001040-1




6001-002030
6001-002030-1

KQAIKOZ L S d Z

6001-002040 40 93 50 20 2

6001-002040-1 40 93 50 20 2
KQAIKOZ MNEPIFPA®H TEM
SL-002030 ANT/KO 15x20x2 2
SL-002030-1 ANT/KO 15x20x2 2
SL-002040 ANT/KO 20x20x2 2
SL-002040-1 ANT/KO 20x20x2 2
94-03-002 BIAA T'IA KONTYAIA M4x6

KQAIKOZ

[5)

D L S d Z
30 93 50 20 2
30 93 50 20 2

A

}

6001-002040 |]

| 2N P~
% SL-002030 ﬁ SL-002030-1
4 O

- /
) SL-002040 I/ ) SL-002040-1

o



KQAIKOZ D L S d Z
6001-003030 30 93 50 20 2
30 93 50 20 2

6001-003030-1

E
ﬁ

}

6001-003030 [}

I
- ;‘

26
y Y
<
[=)
™
o
<
o
o
s ©
26
L
KQAIKOZ D L S d Z
6001-003040 40 93 50 20 2
6001-003040-1 40 93 50 20 2 ‘ \
[~ D -
KQAIKOZ NEPIT PA®H TEM
G, G
SL-003030 ANT/KO 15x20x2 2 ]
SL-003030-1 ANT/KO 15x20x2 2 ) )
A SL-003030 % SL-003030-1
o™, U 78
SL-003040 ANT/KO 20x20x2 2 . /
SL-003040-1 ANT/KO 20x20x2 2 f )
SL-003040 SL-003040-1
94-03-002 BIAA TA KONTYAIA M4x6

.




KQAIKOZ

6001-004030
6001-004030-1

KQAIKOZ
6001-004040
6001-004040-1

l 11.6 '
l 11.6 '

D L S d Z
30 93 50 20 2
30 93 50 20 2

l 155
l 155

40

* dlatiBetal kat pe kotodvt d25

L S d Z
40 93 50 20 2
93 50 20 2

KQAIKOZ MNEPIFPA®H TEM
SL-004030 ANT/KO 15x20x2 2
SL-004030-1 ANT/KO 15x20x2 2
SL-004040 ANT/KO 20x20x2 2
SL-004040-1 ANT/KO 20x20x2 2
94-03-002 BIAA T'IA KONTYAIA M4x6

IQ

6001-004030 |)

T

E

)

l

.

6001-004040

I
- ;‘

. SL-004030

e/
V 2
l SL-004040

) SL-004040-1



l 11.6 '
l 11.6

d

—

6001-005030

\ L
KQAIKOZ D L S d y2
6001-005030 30 93 50 20 2
6001-005030-1 30 93 50 20 2 \
D —»
15.5 d
y ol Ty
<
o
0
o
S
b2
o
s ©
15.5
L
KQAIKOZ D L S d y2
6001-005040 40 93 50 20 2
6001-005040-1 40 93 50 20 2 ]
KQAIKOX NEPIFPA®H =
P 5 =
SL-005030 ANT/KO 15x20x2 2 4 /
SL-005030-1 ANT/KO 15x20x2 2 J |
SL-005030 / s SL-005030-1
(7558 7 e
SL-005040 ANT/KO 20x20x2 2 A
SL-005040-1 ANT/KO 20x20x2 2 /) |
SL-005040 w7 SL-005040-1
94-03-002 BIAA A KONTYAIA M4x6 2 m




6001-006030
6001-006030-1

l 15.5
l 15.5
D

“
“
KQAIKOZ L S d Z
93 50 20 2
93 50 20 2

KQAIKOZ L S d Z
6001-006040 93 50 20 2
6001-006040-1 93 50 20 2
KQAIKOZ MNEPIFPA®H TEM
SL-006030 ANT/KO 15x20x2

SL-006030-1 ANT/KO 15x20x2

SL-006040 ANT/KO 20x20x2 2
SL-006040-1 ANT/KO 20x20x2 2
94-03-002 BIAA T'IA KONTYAIA M4x6

A

P77
ﬁ SL-006030
G

4

J SL-006040

o

N

N\



l 18
l 18 '

KQAIKOZ L S d Z
93 50 20 2
93 50 20 2

D
6001-007030 30
6001-007030-1 30

l 15.5
ﬁ
D

KQAIKOZ L S d Z
6001-007040 40 93 50 20 2
6001-007040-1 40 93 50 20 2
KQAIKOZ MNEPIFPA®H TEM
SL-007030 ANT/KO 15x20x2 2
SL-007030-1 ANT/KO 15x20x2 2
SL-007040 ANT/KO 20x20x2 2
SL-007040-1 ANT/KO 20x20x2 2
94-03-002 BIAA TIA KONTYAIA M4x6 2

Q 1l LS
(e
o
M~
L=
g
b
1=
S ©
| L
L
D —»
]
y ol [%
<
(=]
M~
o
i
o
(=
S ©
| L
L
? D ? kg
| /
// % SL-007030 // & SL-007030-1
» 7 ’ Z

7
J SL-007040

L

J SL-007040-1




KQAIKOZ D
6001-008030 30
6001-008030-1 30

l 12.3
l 12.3
D

L S
93 50
93 50

KQAIKOZ L S d Z
6001-008040 40 93 50 20 2
6001-008040-1 40 93 50 20 2
KQAIKOZ MNEPIFPA®H TEM
SL-008030 ANT/KO 15x20x2 2
SL-008030-1 ANT/KO 15x20x2 2
SL-008040 ANT/KO 20x20x2 2
SL-008040-1 ANT/KO 20x20x2 2
94-03-002 BIAA T'IA KONTYAIA M4x6

A

6001-008040

L
|
V'~ - V" vzp
4 SL-008030 // 4 SL-008030-1
| Zil V 7 s

//’ SL-008040 " A’ SL-008040-1



45°

50

KQAIKOZ D L S d Z
6001-01-0029 30 100 50 20 2
6001-0139 30 G5 50 20 2

N [

<

o

=

i

pas

(=

S ©
' L
KQAIKOZ D L S d Z S
6001-010040 40 93 50 20 2
| |
[ D
KQAIKOZ NMEPITPA®H TEM
” D
62-0011 (6001-01-0029)  ANT/KO 15x20x2 2 >
62-0139 (6001-0139) ANT/KO 15x20x2 2 ) 4 i
1 e20011 | 62-0139
2]
SL-010040 ANT/KO 20x20x2 2 / .
y ) SL-010040

94-03-002 BIAA A KONTYAIA M4x6 2 m



KQAIKOZ

6001-011030
6001-011030-1

KQAIKOZ
6001-011040
6001-011040-1

KQAIKOZ

SL-011030
SL-011030-1

SL-011040
SL-011040-1

94-03-002

D L S
30 93 50
30 93 50

D L S
40 93 50
40 93 50

MEPIrPA®H

ANT/KO 15x20x2
ANT/KO 15x20x2

ANT/KO 20x20x2
ANT/KO 20x20x2

BIAA T'IA KONTYAIA M4x6

d Z
20 2
20 2

d Z
20 2

20 2

TEM
2
2
2
2

6001-011030

-

d

-

I ‘

6001-011040

-

3

Y J SL-011030

>
) SL-011040

T W

7~

% SL-011030-1
U
‘}J SL-011040-1

A\



' 21.7 '
l 23 '

KQAIKOZ D L S d Z
6001-012030 30 93 50 20 2
6001-012030-1 30 93 50 20 2

l 28.8 '
l 28.8
D

KQAIKOZ L S d Z
6001-012040 40 93 50 20 2
6001-012040-1 40 93 50 20 2
KQAIKOZ MNEPIFPA®H TEM
SL-012030 ANT/KO 15x20x2 2
SL-012030-1 ANT/KO 15x20x2 2
SL-012040 ANT/KO 20x20x2 2
SL-012040-1 ANT/KO 20x20x2 2
94-03-002 BIAA TIA KONTYAIA M4x6 2

6001-012030

L
]
y ol T
b
(=]
o
<l
b=
(=
S o
L

)

SL-012030 Y/ A SL-012030-1

| 2 7

/I
// J SL-012040 Z /J SL-012040-1

o



6001-0342

L
KQAIKOZ D L S d Z
6001-0342 27 92 50 20 2 ‘
L D —
d
-
L
KQAIKOZ D L S d Z
6001-0341 35 93 50 20 2
KQAIKOZ NEPIFPA®H TEM
- %
62-0342 (6001-0342) ANT/KO 13.5x16.5x2 2 4 ) 4
62-0341 (6001-0341) ANT/KO 17.5x16.5x2 2 , /J
' 62-0342 7 62-0341

94-03-002 BIAA T'IA KONTYAIA M4x6 2 m



KQAIKOZ D L S d Z

6001-0156 30 95 50 20 2

6001-0157 30 G5 50 20 2
R8

“

KQAIKOZ D L S d Z
6001-01-0148 30 95 50 20 2
KQAIKOZ MNEPIFPA®H TEM
62-0156 (6001-0156) ANT/KO 15x20x2 R5 2
62-0157 (6001-0157) ANT/KO 15x20x2 R6 2
62-0126 (6001-01-0148)  ANT/KO 15x20x2 R8 2
94-03-002 BIAA TIA KONTYAIA M4x6 2

6001-0156 ||

S
Yy
RS
' 2
y J 62-0156
#t Rs

o

6001-01-0148

6001-0157 ||

1

-

62-0157




KQAIKOZ D L S d Z
6001-0162 40 100 50 20 2
R10
I 19.6 I /
KQAIKOZ D L S d Z
6001-0158 40 95 50 20 2
KQAIKOX MNEPICPA®H TEM
62-0162 (6001-0162) ANT/KO 20x25x2 R10 2
62-0158 (6001-0158) ANT/KO 20x20x2 R10 2
94-03-002 BIAA TIA KONTYAIA M4x6 2

[~ D

6001-0158

I ‘

-

£71 R0

/// ) 62-0158



d
R8
| |
L

!
I|
n

6001-02-0084

RO
6001-02-0084 50 105 50 20 2

-

R8
D -
d
. u: m‘—‘
S
R10
. L
L

6001-02-0079 |]

il %)

KQAIKOX D S d Z
6001-02-0079 50 115 50 20 2 32
6001-0266 50 115 50 20 2
D -

KQAIKOX NMEPITPA®H i

R8 \
62-0137 (6001-02-0084) ANT/KO 25x30x2 R8 2 ‘

L 62-0137
R8 \\ R10 \\

62-0127 (6001-02-0079)  ANT/KO 25x40x2 R8 2 -
62-0266 (6001-0266) ANT/KO 25x40x2 R10 2 L‘ L‘
62-0127 62-0266

94-03-002 BIAA MA KONTYAIA M4x6 4 m



=
7
-
N
- 7, -

KQAIKOX D
6001-0343 70 121 55 25 2

6001-0343 |]

6001-0343

*le poipeqg / with axial angle [

15.4

KQAIKOZ [5) L S d Z
6001-0344 59 113 55 20 2

*ue poipeq / with axial angle

KQAIKOX MNEPIFPA®H TEM
62-0343 (6001-0343) ANT/KO 35x35x2 R20 2
62-0344 (6001-0344) ANT/KO 29.5x25x2 2
94-03-002 BIAA T'IA KONTYAIA M4x6 4

N

/ 62-0344



KQAIKOZ D
6001-0314 54

L S d
113 55 20

N

*ue poipeg / with axial angle

%

KQAIKOZ D
6001-0311 50

KQAIKOX

62-0314 (6001-0314)
62-0311 (6001-0311)

94-03-002

MEPIrPA®H

ANT/KO 27x25x2
ANT/KO 25x25x2

BIAA T'IA KONTYAIA M4x6

6001-0314

TEM

$
~.

< 4

o

62-0311



6001-02-0068

29 d
S
A L
[5)

KQAIKOZ L S d Z
6001-02-0068 40 95 50 20 2

338
8.8 S —
S
B 37.4 N
. 6.8 ! !
!A D -

KQAIKOZ L S ] 4
6001-01-0111 40 95 50 20 2
6001-01-0028 40 100 50 20 2
KQAIKOZ NMEPIFPA®H A
[
62:0103 (6001-02-0068) ANT/KO 20x20x2 2 / ’
J 62-0103
N
62-0046 (6001-01-0111) ANT/KO 20x20x2 2 L - S
62-0010 (6001-01-0028) ANT/KO 20x25x2 2 / %
Y ) 62-0046 | 62-0010

94-03-002 BIAA TIA KONTYAIA M4x6 2 m

d



43

I

d
I ‘
L

6001-0268 ]

KQAIKOZ D L S d Z
6001-0268 50 100 50 20 2

-
6001-0269 |]

KQAIKOZ D L S d Z

6001-0269 50 100 50 20 2 ‘
KQAIKOZ NEPIFPA®H TEM

V’Q V'~
62-0268 (6001-0268) ANT/KO 25x25x2 2 N
62-0269 (6001-0269) ANT/KO 25x25x2 2 ) /r
) 62-0268 4 J 62-0269

94-03-002 BIAA T'IA KONTYAIA M4x6 2 m



KQAIKOZ
6001-0301 50 9

I‘ 45 )

KQAIKOZ

6001-0001 60 9 0

KQAIKOX MNEPIFPA®H TEM
62-0301 (6001-0301) ANT/KO 25x20x2 2
62-0001 (6001-0001) ANT/KO 30x20x2 2
94-03-002 BIAA T'IA KONTYAIA M4x6 2

6001-0001 |

1

o

-~

J 62-0001



R8s d
30
20 —‘—.” -
2
o
3
S
: |
6001-0140 50 115 50 20 2 r S
30.8

— D P
R
34.5 8
20.5
L
KQAIKOZ D L S d 4
6001-0270 70 115 50 25 2
D

KQAIKOX MEPIrPA®H TEM

R8 Q\

R8
62-0140 (6001-0140)  ANT/KO 25x40x2 R8 2 N
62-0270 (6001-0270)  ANT/KO 35x40x2 R8 2 ,‘ ¢
\ 62-0140 L \ 62-0270
94-03-002 BIAA T1A KONTYAIA M4x6 4 m



1

- L
KQAIKOX
6003-01-0002 \
J— D o
| d
'y R
| |
max=44
S
“ X
L
KQAIKOZ
6003-01-0001 70 112 50
225
L
D -
KQAIKOZ MNEPIFPA®H TEM
. B B
SL-L50 ANT/KO 50x12x1.5 2
1

94-03-002 BIAA A KONTYAIA M4x6 4 m



d
I
| L

|

6001-0331]

KQAIKOZ D L S d Z
6001-0331 63 95 50 25 2 o\
16
\
d
] " i ]
o
i
2
3
S ©
X L
KQAIKOZ [5) L S d Z
6001-01-0126 50 95 50 20 2
\
[~ D |
KQAIKOZ MEPIFPA®H TEM
v
62-0331 (6001-0331) ANT/KO 31.5x20x2 2 . g
62-0117 (6001-01-0126) ANT/KO 25x20x2 2 ) J
/ 62-0331 . 62-0117

94-03-002 BIAA TIA KONTYAIA M4x6 4/2 m

27 48



KQAIKOZ D L S d Z
6001-0348 52 109 50 20 2
"R
KQAIKOZ D L S d Z
6001-0358 52 109 50 20 2
KQAIKOX MNEPIFPA®H TEM
62-0348 (6001-0348) ANT/KO 20x22x2 2
62-0358R8 (6001-0358R8) ANT/KO 20x22x2 R8 2
62-0358R5 (6001-0358R5) ANT/KO 20x22x2 R5 2
62-0358R6 (6001-0358R6) ANT/KO 25x22x2 R6 2
94-03-002 BIAA TIA KONTYAIA M4x6 2

e
'4%

62-0348

o

1

-

-

R8 R5 R6
D D g
V

62-0358R8 62-0358R5 62-0358R6



d

]

R25

]
L
X
i
R35 '
I A !

6001-0027 |]

KQAIKOZ D L S d Z
6001-0027 82 99 59 20 3
6001-0238 82 105 65 20 3

* dlatiBetal Kal Ye Kotodvt d25

KQAIKOZ MEPITPAGH TEM
? P -

62-0027 (6001-0027)  ANT/KO 40x20x2 R25 3 ,

62-0238 (6001-0238)  ANT/KO 40x20x2 R35 3 2, B .oy A ..o
s

94-01-007 BIAA KQNIKH M6 L12 6 I—M

93-010 2OYITKTHPAZ 3 4

20 480



‘ - ‘
%)
o
S
o
o
©
s
L
!
- I
315
KQAIKO> D L S d z
6003-PIS5 8 99 59 20 3
i i r
I

‘ N
S
L
|
1

28.5
KQAIKOZ D L S d z {
6003-TZ1 18 99 59 25 3
= D

KQAIKOZ MEPITPAGH TEM
62:0016 (6003-PIS-5)  ANT/KO 40x20x2 R8 3 »
62-0019 (6003-TZ1) ANT/KO 40x40x2 3

[ ~m 62-0016 ~oaw 62-0019

|
94-01-007 BIAA KQNIKH M6 L12 6 I—w

93-010 2OYITKTHPAZ 3 /



(BIMHKE . 3ETMOPTAS A CNC - CNC SET FORDOOR FRAMES )

01-02-11540/
01-02-11740/
01-02-12540/

45-60 01-02-12740

01-02-12541

L 9523/ |
- 10523 | ‘
- l A
10/11 | |
- |
D 1 [ D
d |
10/11 [a-om| |<—|
I
— L 01-0219522/
! 10522 | KQAIKOZ D L d y2 S v
| 01-02-9522 95 20 30 4 2 -
N 01-02-9523 95 20 30 4 2 =
| 01-02-10522 105 20 30 4 2 -
45-60 e 01-02-10523 105 20 30 4 2 o
i g:_g:_: 13:3; I 01-02-11540 115 40 30 4 2 2
L B | 01-02-11740 117 40 30 4 2 2
01-02-12540 125 40 30 4 2 2
‘ 01-02-12740 I 01-02-12740 127 40 30 4 2 2
| 01-02-12541 125 40 30 4 2 2
A 01-02-11230 112 30 30 4 - -
|
= D |
KQAIKOZ NEPIFTPA®H TEM -
63-0137 ANT/KO 25x23x2 4
[~ - 63-0137
SL-L20 20x12x1.5 4 i
SL-L40 40x12x1.5 4
94-02-001 BIAA MIEZEQZ M6 L12 (yia 63-0137) 8 M
94-02-003 BIAA MIEZEQS M8 L16 (yia SL-L20/40) 8/4
SL-L142 MPOXAPA=H 14x14x2.0 2 ) V: npoxapagn
N
94-09-001 BIAA 1A MPOXAPA=H M5 L8 2 ':w
SL-FKB45 OANTZO 16x22x5.0 - 45° 2 —
SL-FKB-R2 PAAIO 16x22x5.0 - R2 2 > & v
SL-FKB-R3 PAAIO 16x22x5.0 - R3 2 . A4
SL-FKB-R4 PAAIO 16x22x5.0 - R4 2 K S: pddo
SL-FKB-R5 PAAIO 16x22x5.0 - R5 2
[N
94-07-002 BIAA 1A PAAIO M5 L13 2 m
»”
93-051 SOYIKTHPAS yia 63-0137 4
93-001 SOYIKTHPAS yia SL-L20 4
93-010 SOYIKTHPAS yia SL-L40 4 .



KQAIKOZ
1062-120-3.0-30
1062-120-4.0-30
1062-120-5.0-30
1062-152-3.0-30
1062-152-4.0-30
1062-152-5.0-30
1062-181-3.0-30
1062-181-4.0-30
1062-181-5.0-30

for grooving along and across grain on softwoods, hardwoods
and laminates.

yia xdpaypa kard pikog Kai eykdpaia tng em@pdaveiag EUAou oe
HaAakd, okAnpd kai pe emkdiuyn EUAa.

y4 oQo
18 4/6/48
18 4/6/48
18 4/6/48
24 4/6/48
24 4/6/48
24 4/6/48
30 4/5.5/52
30 4/5.5/52
30 4/5.5/52



KQAIKOZ ) L | Z KOTZANI KQAIKOZ D L | Z KOTZANI

50-PHO2FMO1 16 130 50  1+1  20x55 50-PHO1FMO5 12 8 3 1  20x55
50-PHO2FMO2 18 180 50  1+1  20x55 50PHOTFMOIC2050 16 120 50 1 20x55
50-PHO2FM03C25 20 130 50 141  20x55
50-PHO2FM
KQAIKOZ NEPIT PAGH TEM
_ . _
SL-L50 50x12x1.5 1 |
I —
94-502302(PHO2FM01/02)  BIAA Mdx10 2
94-502303(PHO2FM03) BIAA Mdx12 2
50-601008 10x9.5x1.5 1 i,
50-601009 10x10.5x1.5 1 el 1
94-03-002 BIAA M4x6 1 m
50-PHO2FMO1 SOYFKTHPAS [1A SL-L50 1
50-PH02FM02 SOYMKTHPAS [1A SL-L50 1 m
50-PHO1FM
KQAIKOZ NEPIT PAGH TEM
SLL49.54 (PHO1FMO1) 49.5x12x1.5 1 l | I

- e =\

94-502302 BIAA M4x10 2 m

SL-L30 MINI (PHO1FMO5)  30x5.5x1.1 1 I
94-502307 BIAA M3x7 3 NN
93-300806 SOYFKTHPAS MA SL-L50 1



KQAIKOZ D L | Z KOTZANI
50-PHO1FM09 16 110 34 1+2 20x55
50-PHO1FM10 20 120 50 1+4 20x55

d25 katdmv napayyehiag

50-PHO1FM
KQAIKOX NEPIT PAGH TEM
SLL29.54 29.5x12x1.5 1
SL-L12 12x12x1.5 2 (1=34)
4 (1=50)
94-03-002 BIAA M4x6 4 (1=34)
6 (1=50)
50-PHO6FM
KQAIKOX NEPIT PAGH TEM
4 (1=33)
5 (1=40)
SL-L12 12x12x1.5 6 (1=47)
8 (1=54)
8 (1=61)
4 (1=33)
5 (1=40)
94-03-002 BIAA M4x6 6 (1=47)
8 (1=54)
8 (1=61)

KQAIKOZ

50-PH06FM01C20
50-PH06FM02C20
50-PH06FM03C20
50-PH06FM04C20
50-PH06FM05C20

D
20
20
20
20
20

d25 katdmv napayyeAiag

L
102
109
116
123
130

Z

2
2
2
2
2

KOTZANI

20x55
20x55
20x55
20x55
20x55



KQAIKOZ ) L | Z KOTZANI KQAIKOZ KOTZANI
50-PH28FMO01 25 135 66 1+1 20x55 AEE. AP. D L | 4 S
50-PH29FM01  50-PH29FM11 20 125 53 2+2 20x55

d25 katdmiv napayyehiag
d25 katdmv napayyehag

50-PH28FM
KQAIKO> NEPITPA®H TEM
[ ]
SL-L12 12x12x1.5 6 |
I

94-502330 BIAA M4x5 6 :})m

50-PH29FM
KQAIKOX MEPITPA®H TEM
SL-L28 28x7x1.5 4 [ |

94-502331 BIAA M3x4 8 M

35 48



KQAIKOZ

50-PH08FM01C20
50-PH08FM02C20
50-PHO8FM03C20
50-PHO8FM04C25
50-PHO8FM05C25
50-PHO8FM06C25

PHO8FM

KQAIKO>
SL-L12

94-501402
94-02-001

93-302411

93-302410

93-052

93-053

GP33FM
KQAIKOX

SL-L12

94-501402

SL-L142

94-500002

93-340037

D
45
45
45
45
45
45

L | Z
105 45 4/8
116 56 4/10
127 67 4/12
138 78 4/14
149 89 4/16
160 100 4/18

MEPIFPA®H
12x12x1.5

BIAA MIEXEQ> M6x10
BIAA MNIEXEQX M6x12

2OYITKTHPAX 32

2OYITKTHPAX 54

SOYITKTHPAX 76

2OYITKTHPAX 98

MNEPIrPA®H

12x12x1.5

BIAA MIEXEQZ M6x10

14x14x2.0

BIAA M5x6.5

2OYITKTHPAZ

KOTZANI

20x55
20x55
20x55
25x55
25x55
25x55

TEM

8/10/12
14/16/18

8/10/12
14/16/18

4(PHO8FMO1)
2(PHO8FMO02)

2(PHO8FMO02)
4(PHO8FMO3)
2(PHO8FMO04)

2(PHO8FMO04)
4(PHO8FMO05)
2(PHO8FMO06)

2(PHO8FMO06)

TEM

@ 36

KQAIKOZ D
50-GP33FM1001 80
50-GP33FM1002 80
50-GP33FM1003 80
50-GP33FM1004 80
50-PH33FA01030(B) 80

T0 gpyaieio GP33FM katdmv mapayyeliag

g I_I

: % 2

B i

102
102
102
102
102

Z Vv TZOK

4 ISO 30

4 ISO 40

4 ISO 30/SCM
4 HSK 63F
20 2

V: mpoxdpaén



A B
i A
¥ Y
<¢ : " v
920

KQAIKOZ D L | 4 KOTZANI
50-PH22FMO01 17 58 8.5 1 10x30
KQAIKOZ MEPIrPA®H TEM

SL-L12 12x12x1.5 1 //’ 1

94-502310 BIAA M3.5x4.8 1 :W

(37 48



KQAIKOZ D L | Z KOTZANI
50-PH22FM02C12 24 76 12 1 12x40

KQAIKOZ MNEPITPA®H TEM

SL-L172 17x17x2.0 1 \\ i

94-03-002 BIAA M4x6 1 m



= o
% P

KQAIKOX ) | Z KOTZANI

50-PH25FM02C20 85 39 2 20x60
)

Imax (0°) = 37 Imax (45°) = 26

Imax (5°) = 37 Imax (50°) = 24

Imax (10°) = 36 max ggg; -4

Imax (15:) =36 Imax (65°) = 15

Imax (20%) = 35 Imax (70°) = 12

Imax (25°) = 33 Imax (75:) =9

Imax (30°) = 32 :mg gggog = g

Imax (35°) =30 Imax (90°) = 0

Imax (40°) = 28

KQAIKOX MEPIFPA®H TEM

SL-L39 39x12x1.5 2

94-501414 BIAA M6x8 4

93-341099 2OYITKTHPAX 2

30 480



KQAIKOZ
AE=. AP.
50-GP60FM0711 50-GP60FMO072

D
1 110

50-GP60FM0712 50-GP60FM0722 110
50-GP60FM0713 50-GP60FMO0723 110
50-GP60FM0714 50-GP60FM0724 110

50-GPBOFM07020  (KEQAAEG 1, 2)
50-1000212 (0OBENEQ)

* gpyaheio katdémv napayyeiiag

KQAIKOX

50-601366 (1)

50-601367 (2)

94-501412

93-340032

110

MNEPIrPA®H

45x23x2.0

45x23x2.0

BIAA M8x14

d
20
20
20
20
20

2OYIKTHPAZ

KOTZANI
S
I1SO 30
ISO 40
ISO 30/SCM
HSK 63F

DN NN N

TEM

b
T AR




KQAIKOZ
50-PH31FM1001
50-PH31FM1002
50-PH31FM1003
50-PH31FM1004
50-PH31FM1020(F)
50-PH31FM3020(C)
50-PH31FM2020(E)

KQAIKOZ

50-602017
50-602019
50-602021
50-602023
50-602025
50-602026

SL-L50

94-501403

93-341001
93-341002

D
109
109
109
109
109
95
109

| D

20
20
20
20 20
50 20
20 20

MNEPICPA®H

20x21x2.0 R2
20x21x2.0 R3
20x21x2.0 R4
20x21x2.0 R5
20x21x2.0 R6
20x21x2.0 45°

50x12x1.5

BIAA M8x16

SOYIKTHPAZ
SOYIKTHPAX (SL-L50)

Z TZOK
2 ISO 30
2 I1SO 40
2 IS0 30/SCM
2 HSK 63F
2
2
2

TEM

NN NN DN DN

41 48

IN‘
®

R



KQAIKOZ D

50-GP61FM1001 102
50-GP61FM1002 102
50-GP61FM1003 102
50-GP61FM1004 102
50-GP61FA01020(B) 102

KQAIKOX

50-601325
50-601326
50-601327
50-601328
50-601329
50-601330
50-601331
50-601332

SL-L60

94-501403

93-340031
93-340006

| d

73 20

MNEPIrPA®H

20x23x2.0 R2
20x23x2.0 R3
20x23x2.0 R4
20x23x2.0 R5
20x23x2.0 R6
20x23x2.0 R7
20x23x2.0 R8
20x23x2.0 45°

60x12x1.5

BIAA M8x16

Z
2+2
2+2
2+2
2+2
2+2

2OYITKTHPAZ (SL-L60)

2OYITKTHPAZ

TZOK
ISO 30
ISO 40
ISO 30/SCM
HSK 63F

TEM

N NDPONNODNDNDNDN

N N

8

l\;\\)
>



KQAIKOZ D
50-PH31FM1005 120
50-PH31FM1006 120
50-PH31FM1007 120
50-PH31FM1008 120
50-PH31FM08020(A) 120
50-PH31FM03020(C) 95
50-PH31FM09020(B) 120

KQAIKOZ

A B

50-601350 50-601351
50-601353 50-601354
50-601355 50-601356

SL-50

94-501403

93-341001
93-341002

20

20

MNEPICrPA®H

20x25x2.0 R8
20x25x2.0 R10
20x26x2.0 R12

50x12x1.5

BIAA M8x16

SOYIKTHPAZ
>OYIKTHPAZ (SL-L50)

Z

2
2
2
2
2
2
2

TZOK
ISO 30
ISO 40

ISO 30/SCM

HSK 63F

TEM

NN

143 48

=
]

A

o/ 2

|
\
I\
>




MAMALAL

KQAIKOZ D L I Z  KOTZANI
50-PH58FMO11 140 1245 25  2+2
50-PH58FM11 1265 1245 25 2
50-PH58FM05C12 30 46 12 2 12x25
50-PH58FM05C12-R 30 46 12 2 12x25
50-PH58FM10 SET 140  124.5 2+2+2
50-PH58FM100 SET 1265  124.5 2+2
KOQAIKOZ NEPIT PA®H TEM
50-601311 50x25x2.0 2
v N
50-601312 50x25x2.0 2 |
;’/-
50-601313 50x25x2.0 2 |
94-502315 BIAA M5x8 4 :nm
50-601322 (D) 20x20x2.0 o # | 7o
50-601323 (E) 20x20x2.0 2 %I /J A
50-601321 (F) 20x20x2.0
i
94-502402 BIAA M7x21 2 |—M
50-601310 12x13.6x1.5 2 ] o
SL-L142 12x12x1.5 2 il I ——
f
94-03-002 BIAA M4x6 2 3

93-350082 SOYTKTHPAS yia D,E,F 2 .’



KQAIKOX D [¢] Z V  VTZOK
50-GP39FM1001 95 20 2 1ISO 30
50-GP39FM1002 95 20 2 I1ISO 40
50-GP39FM1003 95 20 2 ISO 30/SCM
50-GP39FM1004 95 20 2 HSK 63F
50-PH39FM02(G) 95 20 2
50-PH39FMO3(l) 95 20 2 4
50-PH39FMO1 (H) 95 20 2
KQAIKOX NMEPIFPA®H TEM
% & 7Y S
50-604001 17.5x29.5x2.0 2 , Q! Py N
50-604002 17.5x29.5x2.0 2 2 \ I a = |
50-604003 17.5x29.5x2.0 2 A B3 e
50-604004 17.5x29.5x2.0 2 50-604001 50-604002 50-604003 50-604004
50-604005 17.5x29.5x2.0 2 % 3 i N I N
50-604006 17.5x29.5%2.0 2 B, & | |
50-604007 17.5x29.5x2.0 2 i . = ) P 4 o ~ N
50-604008 17.5x29.5x2.0 2 d b T 45
LA meapel 2 50-60&)5 50-;)4006 50 6:)4;7‘ 50;)4008 50 6:)4;); 50;)4010
50-604010 17.5x29.5x2.0 2 ) ) ) :
[
94502402 BIAA M7x21 4 M
[l
[ |
SL-L7.6 7.6x12x1.5 2
[
L]
94-502403 BIAA M5x18 2 7M
[l
|
SL-L142 14x14x2.0 4 B 4 V: npoxdapa&n
I
b
94-500002 BIAA M5x6.5 4 ,m
y
93-350079 2OYIKTHPAZ 2
93-350078 2OYITKTHPAX 2
93-350021 2OYIKTHPAZ (SL-L7.6) 2

145 48



KQAIKOZ
50-GP39FM1005
50-GP39FM1006
50-GP39FM1007
50-GP39FM1008
50-PH39FMO1(H)
50-PH39FMO04 (J)
50-PH39FM02(G)

KQAIKOZ

50-604001
50-604002
50-604003
50-604004

50-604005
50-604006
50-604007
50-604008
50-604009
50-604010

94-502402

SL-L20

94-501403

93-350079
93-350078
93-341001

MNEPIFPA®H

17.5x29.5x2.0
17.5x29.5x2.0
17.5x29.5x2.0
17.5x29.5x2.0

17.5x29.5x2.0
17.5x29.5x2.0
17.5x29.5x2.0
17.5x29.5x2.0
17.5x29.5x2.0
17.5x29.5x2.0

BIAA M7x21

20x12x1.5

BIAA M8x16

SOYIKTHPAZ
SOYIKTHPAZ

SOYIKTHPAZ (SL-L20)

Z TZOK
2 ISO 30

2 ISO 40

2 ISO 30/SCM
2 HSK 63F
2

2

2

TEM

NN NN

NN NN NN

n

[\S\O N \V)

[ |
g i I
Y e
50-604001 50-604002
o

5 &
) N
SN

50-604005 50-604006

r -
% [
Fa =N
| ,4 k\»
 J R
50-604003 50-604004
% N

I ‘!
iy

50-604007 50-604008

2N

50-604009 50-604010



KQAIKOZ D dZz Vv TZ0K
50-GP39FM3001 101 20 2 SO 30
50-GP39FM3002 101 20 2 SO 40
50-GP39FM3003 101 20 2 ISO 30/SCM
50-GP39FM3004 101 20 2 HSK 63F
50-PH39FM08(K) 101 20 2
50-PH39FMO3() 101 20 2 4
50-PH39FMO7(L) 101 20 2
KQAIKOZ NEPIT PAGH TEM
50-604011 15x26.6x2.0 2 ? r b A
50-604012 15x26.5x2.0 2 R N
50-604013 15x26.5x2.0 2 T / T
- - - -

50-604014 15X265X20 2 50-604011 50-604012 50-604013 50-604014
50-604015 15x26.5%2.0 2 . : - - .
50-604016 15x26.5x2.0 2 | 2N s &
50-604017 15x26.5x2.0 2 A a. .8 ‘2.8
50-604018 15x26.5x2.0 2 / ' ‘\ / T ik
50-604019 15X26'5X2'0 2 50-604.0/15 50-6.0/4016 50-60;1; 50;4018 50-60;19 50;4020
50-604020 15x26.5x2.0 2

.
94-502402 BIAA M7x21 4 |—M

[ ]
SL-L7.6 7.6x12x1.5 2 id

>
94-502403 BIAA M5x18 2 |—w

L] ,
SL-L142 14x14x2.0 4 V: ipoxapagn

b
94-500002 BIAA M5x6.5 2 ’m
93-350081 SOYIKTHPAS 2
93-350080 SOYTKTHPAS 2
93-350021 SOYIKTHPAS (SL-L7.6) 2 B

147 48



KQAIKOZ
50-GP39FM3005
50-GP39FM3006
50-GP39FM3007
50-GP39FM3008
50-PH39FMO7 (L)
50-PH39FMO4(J)
50-PH39FMO8(K)

KQAIKOX

50-604011
50-604012
50-604013
50-604014

50-604015
50-604016
50-604017
50-604018
50-604019
50-604020

94-502402

SL-L20

94-501403

93-350081
93-350082
93-341001

D
101
101
101
101
101
101
101

MEPIrPA®H

15x26.5x2.0
15x26.5x2.0
15x26.5x2.0
15x26.5x2.0

15x26.5x2.0
15x26.5x2.0
15x26.5x2.0
15x26.5x2.0
15x26.5x2.0
15x26.5x2.0

BIAA M7x21

20x12x1.5

BIAA M8x16

SOYIKTHPAZ
SOYITKTHPAZ

SOYTKTHPAS (SL-L20)

Z TZOK
2 ISO 30

2 ISO 40

2 ISO 30/SCM
2 HSK 63F
2

2

2

TEM

[\SH O\ \V)

NN NN DN

N

NN

N

\g'
- D

50-604011 50-604012

s

") o
V3 N
i

50-604015 50-604016

v

®
" #
2 &N
2 W 3
-l -
50-604013 50-604014
[ ] To o

>
e
‘
-

n)
A DS

50-604017 50-604018

2N

50-604019 50-604020



Wb

S

b

e e

\-\!. lr-r.rj..?.r. M-
H\ % /_., -
I ,_ ~]
| | O

.._ __ R

_’ ._/f .x__ .ra? H
| e —
=)
)

L)

ey i

| il




ENEZHMHZH ZYMBOAQN

[
i /A

Z2+V2

=T

4
4

C

Ap1Bpdg dovTiwv
Number of teeth

Ap16pdg dovTiwv - Ap1Budg mpoxapdagewv
Number of teeth - Number of spurs

Epyaleia yia Tputinua og Quoiké §UAo, poplocavida, KATMAAPAG K.A.TT.
Tools for drilling blind holes in natural wood, chipboards panels, plywood etc.

Epyaleia yia EeTpUnnpa oe Quoikd Ao, poplocavida, KAMAAPAg K.A..
Tools for drilling through holes in natural wood, chipboards panels, plywood etc.

@50




(BIMHKE . TPYMANIA IOAYTPYMANOY KANEFUSA - DOWELL DRILL BITS ,@

[ KQAIKOE  KOTZANI
AE=. Dx AP. Sx D I L S
10,0 5017-005-57  5017-105-57 5 27 575 10x27
- - 5017-008-57 5017-108-57 8 27 575 10x27
5017-010-57 5017-110-57 10 27 57,5 10x27
5017-012-57 5017-11257 12 27 575 10x27

i -

) Y

A

f

|zz+\7§ | =
(BIMHKE . TPYMANIA IOAYTPYTIANOY KANEFUSA - DOWELL DRILL BITS ~ 5017-70)

27,0

57,5

27,0

KQAIKOZ KOTZANI
@10 AEZ. Dx AP. Sx D I L S
- - 5017-005-70  5017-105-70 3 70 10x30

5
5017-008-70 5017-108-70 8 35 70  10x30
5017-010-70 5017-110-70 35 70  10x30

10
A . 5017-012-70 5017-112-70 12 35 70  10x30
o
o
™
. ) '
| i

@D

70,0

35,0




(5018:57 . TPYMANIA MIOAYTPYITANOY HM KANEFUSA - SOLID CARBIDE DOWELL DRILL BITS ,~~ BIMHKE

10,0 KQAIKOX KOTZANI \
il (A AEE. Dx AP. Sx D [ L S
5018-005-57 5018-105-57 5 27 57,5 10x30
5018-008-57 5018-108-57 8 27 57,5 10x30
————
.
.
T
o~
Y L ]

mTPYHANIA MOAYTPYTIANOY HM KANEFUSA - SOLID CARBIDE DOWELL DRILL BITS

30,0

57.5

KQAIKOX KOTZANI
AEZ=. Dx AP. Sx D | L S
5018-003-70 5018-103-70 3 25 70 10x30
5018-005-70 5018-105-70 5 35 70  10x30
i 5018-008-70 5018-108-70 8 35 70 10x30
5018-010-70 5018-110-70 10 35 70  10x30
o
o
™
Y
<
o [
I~
o
e
(3]

@52



TPYMANIA NMOAYTPYIMANOY - DOWELL DRILL BITS

508

I =
ff
[ 20
\
\‘-.
vy
575 !f A
f
\ “ 30
f I|:|' \
i llllr
! !
Y |

= D

- (D

KQAIKOZ

AEZ=. Dx
5020-004-57
5020-005-57
5020-006-57
5020-007-57
5020-008-57
5020-009-57
5020-010-57
5020-012-57
5020-014-57

AP. Sx
5020-104-57
5020-105-57
5020-106-57
5020-107-57
5020-108-57
5020-109-57
5020-110-57
5020-112-57
5020-114-57

©oo~NOO U A

10
12

L
57,5
57
57,5
57
57,5
57
57,5
575
57,5

KOTZANI
S
10x20
10x20
10x20
10x20
10x20
10x20
10x20
10x20
10x20

TPYMANIA MOAYTPYMANOY - DOWELL DRILL BITS

63 418

AEZ=. Dx AP. Sx D I L S
5020-004-70  5020-104-70 4 43 70  10x20
5020-005-70  5020-105-70 5 43 70  10x20
5020-006-70  5020-106-70 6 43 70 10x20
5020-007-70  5020-107-70 7 43 70  10x20
5020-008-70  5020-108-70 8 43 70 10x20
5020-009-70  5020-109-70 9 43 70  10x20
5020-010-70  5020-110-70 10 43 70  10x20

5020-0102-70 5020-1102-70 10,2 43 70  10x20
5020-012-70  5020-112-70 12 43 70  10x20
5020-014-70  5020-114-70 14 43 70  10x20
5020-016-70 5020-116-70 16 43 70  10x20
5020-018-70  5020-118-70 18 43 70  10x20
5020-019-70 5020-119-70 19 43 70  10x20

B Lt
Z2+V2




\\ TPYIMANIA MOAYTPYMANOY - DOWELL DRILL BITS

27

!
A
85
50
Y !

- gD —

KQAIKOZ

AE=. Dx
5020-005-85
5020-006-85
5020-008-85
5020-010-85
5020-012-85
5020-014-85

AP. Sx
5020-105-85
5020-106-85
5020-108-85
5020-110-85
5020-112-85
5020-114-85

0 o O1|w)

10
12

KOTZANI
S
10x27
10x27
10x27
10x27
10x27
10x27

TPYMANIA NMOAYTPYIMANOY - DOWELL DRILL BITS

@ 54

AEZ=. Dx AP. Sx ) | L S
5020-005-105 5020-105-105 5 70 105 10x27
5020-006-105 5020-106-105 6 70 105 10x27
5020-008-105 5020-108-105 8 70 105 10x27
5020-010-105 5020-110-105 10 70 105 10x27
5020-012-105 5020-112-105 12 70 105 10x27
5020-014-105 5020-114-105 14 70 105 10x27
5020-016-105 5020-116-105 16 70 105 10x27




TPYMANIA EAIKOEIAH - DOWELL DRILL BITS

- 013 [=— KQAIKOX KOTZANI
I &= ] AEZ=. Dx AP. Sx D | L S
T 5021-008-13 5021-108-13 8 70 120  13x50
5021-010-13  5021-110-13 10 70 130  13x50
50 5021-012-13  5021-112-13 12 70 140  13x50
!
|
120
I
70

- G110 -

\/ 40

5024-005-70
5024-007-70
5024-008-70
5024-010-70

5024-105-70
5024-107-70
5024-108-70
5024-110-70

40
40
40
40

70
70
70
70

TPYMANIA MOAYTPYMANOY - DOWELL DRILL BITS

10x20
10x20
10x20
10x20

25,0

43

KQAIKOZ KOTZANI
AEZ=. Dx AP. Sx D I L S
5016-005-70 5016-105-70 5 43 70 10x25
5016-006-70 5016-106-70 6 43 70 10x25
5016-008-70 5016-108-70 8 43 70 10x25
AY
z2




— G310 -

A A
25

)| B |

58 ' i

o @D —-

KQAIKOZ

AE=. Dx
5025-004-58
5025-005-58
5025-006-58
5025-007-58
5025-008-58
5025-010-58

AP. Sx
5025-104-58
5025-105-58
5025-106-58
5025-107-58
5025-108-58
5025-110-58

o
S o~ oA [s)

KOTZANI
L S
58 10x25
58 10x25
58 10x25
58 10x25
58 10x25
58 10x25

!
2
i

| | [\
|
‘ 25
|-
70 |
|
I'I 35
!
|

o DD -

KQAIKOX KOTZANI
S

AE=. Dx AP. Sx D | L
5025-005-70  5025-105-70 5 35 70
5025-006-70 5025-106-70 6 35 70
5025-007-70  5025-107-70 7 35 70
5025-008-70 5025-108-70 8 35 70
5025-010-70  5025-110-70 10 35 70

@ .56

10x25
10x25
10x25
10x25
10x25




TPYMANIA NMOAYTPYIMANOY - DOWELL DRILL BITS

KQAIKOZ

AEZ=. Dx
5026-004-57
5026-005-57
5026-052-57
5026-006-57
5026-063-57
5026-007-57
5026-008-57
5026-009-57
5026-095-57
5026-010-57
5026-011-57
5026-012-57
5026-0127-57
5026-014-57
5026-015-57
5026-016-57

AP. Sx
5026-104-57
5026-105-57
5026-152-57
5026-106-57
5026-163-57
5026-107-57
5026-108-57
5026-109-57
5026-195-57
5026-110-57
5026-111-57
5026-112-57

5026-1127-57

5026-114-57
5026-115-57
5026-116-57

12,7
14
15
16

L
57,5
57
57,5
57
57,5
57
57,5
57
57,5
575
57,5
575
57,5
575
57,5
575

KOTZANI
S
10x27
10x27
10x27
10x27
10x27
10x27
10x27
10x27
10x27
10x27
10x27
10x27
10x27
10x27
10x27
10x27

N

5 1

TPYMANIA MOAYTPYMANOY - DOWELL DRILL BITS

S0

AE=. Dx AP. Sx D I L S
5026-005-70  5026-105-70 5 35 70 10x30
- 5026-052-70 5026-152-70 52 27 70  10x30
A \ A 5026-006-70  5026-106-70 6 35 70 10x30
5026-007-70  5026-107-70 7 35 70 10x30
| f 5026-008-70  5026-108-70 8 35 70 10x30
30 5026-082-70 5026-182-70 82 35 70 10x30
5026-009-70  5026-109-70 9 35 70 10x30
5026-010-70  5026-110-70 10 35 70 10x30
/\ 5026-011-70  5026-111-70 11 35 70 10x30
\/ | 5026-012-70  5026-112-70 12 35 70 10x30
| — 5026-013-70  5026-113-70 13 35 70 10x30
20 e/ i 5026-014-70  5026-114-70 14 35 70 10x30
i / 5026-015-70  5026-115-70 15 35 70 10x30
"/ 5026-016-70  5026-116-70 16 35 70 10x30

| l] f

|II| Iull.'.l

i 35

!
Z2+V2



KQAIKOZ
AE=. Dx AP. Sx
5027-030 5027-130
5027-035 5027-135
5027-040 5027-140
5027-045 5027-145
5027-050 5027-150

D
3,5

4,5

KOTZANI

10x30
10x30
10x30
10x30
10x30

KQAIKOX
AE=. Dx AP. Sx
5029-020 5029-120
5029-025 5029-125
5029-030 5029-130
5029-032 5029-131
5029-035 5029-135
5029-040 5029-140
5029-050 5029-150

@58




(BIMHKE . TPYMANIA TIOAYTPYTIANOY AINIAO - COUNTERBORE/COUNTERSINK BITS ~ 5028-1 )

- @S

@ D2

[ | S | | S |
< . | D1 | | D1 |
Lo D2 D2
L3
| MOIPEZ |
I LT
.-'J — *e13IKO TPOIOV KaTomv apayyehiag
L1

-_— S -

L1

- 8S = s | s |
I | D2 | | D2 |
L3
| MOIPEZ |
o G |
|
| K
g 1
LT
@ D2
- —— *e181k6 TPoidv kaToémv mapayyehiag
|
."llli
L1
/
l 1
~ @Dl —

-GS -
& i

L3

[ f '\ L2
BT l LT

.-4

II.I'IIIII L1

' T
~ @D1 —




TPYMANIA MENTEZEAQN - HINGE BORING BITS

KQAIKOZ

= @10 —~ AEZ. Dx

_ . 5011-015-57
i — \ 5011-016-57
8 5011-018-57
A/ 5011-020-57
5011-022-57
1 25 5011-024-57
5011-026-57

5011-028-57
W\ Y 5011-030-57
= 5011-032-57
5011-034-57
5011-036-57
5011-038-57
5011-040-57

57.5

AP. Sx
5011-115-57
5011-116-57
5011-118-57
5011-120-57
5011-122-57
5011-124-57
5011-126-57
5011-128-57
5011-130-57
5011-132-57
5011-134-57
5011-136-57
5011-138-57
5011-140-57

L
57,5
575
57,5
575
57,5
575
57,5
575
57,5
575
57,5
575
57,5
575

KOTZANI
S
10x26
10x26
10x26
10x26
10x26
10x26
10x26
10x26
10x26
10x26
10x26
10x26
10x26
10x26

TPYMANIA MENTEZEAQN - HINGE BORING BITS

KQAIKOX
AE=. Dx AP. Sx
A 5011-015-70 5011-115-70
5011-016-70 5011-116-70
5011-017-70  5011-117-70
5011-018-70 5011-118-70
38 5011-019-70 5011-119-70
5011-020-70 5011-120-70
5011-021-70  5011-121-70
5011-022-70 5011-122-70
5011-024-70 5011-124-70
I 5011-025-70 5011-125-70
! 5011-026-70 5011-126-70
5011-028-70 5011-128-70
5011-030-70 5011-130-70
5011-032-70 5011-132-70
5011-035-70 5011-135-70
5011-036-70 5011-136-70
5011-038-70 5011-138-70
5011-040-70 5011-140-70

@ 60

KOTZANI
S
10x38
10x38
10x38
10x38
10x38
10x38
10x38
10x38
10x38
10x38
10x38
10x38
10x38
10x38
10x38
10x38
10x38
10x38




BIMHKE TPYMANIA MENTEZEAQN - HINGE BORING BITS 501190

- 10 —— KQAIKOS D L KOTZANI
5011-018-90 18 90 10x60
i = 1 5011-020-90 20 90 10x60
5011-035-90 35 90 10x60
5011-040-90 40 90 10x60
5011-045-90 45 90 10x30
5011-050-90 50 90 10x30
5011-055-90 55 90 10x30
60 5011-060-90 60 90 12x30
90 |
.

'BIMHKE TPYMANIA MENTEZEAQN - HINGE BORING BITS

e DR KQAIKOZ D L KOTZANI
5011-070-150 70 150 16x50
i &= ] 5011-080-150 80 150 20x50
5011-090-150 90 150 20x50
5011-100-150 100 150 20x50
50
150 |
e

61 418



(5012 . ENANASZOMENOI MENTESEAES - DISPOSABLE KNIVES HINGE BORING BITS ~ E

— G 10 KQAIKOZ
AE=. Dx AP. Sx D |
1 5012-025-57 5012-125-57 25
5012-026-57 5012-126-57 26
5012-030-57 5012-130-57 30
5012-035-57 5012-135-57 35
25 5012-040-57 5012-140-57 40

57.5 ’7

- 2o - ’zz+v2 | l‘

KQAIKOZ NEPIFPA®H TEM
SL-L15.7 15.7x12x1.5 2 1

SL-L18.9 18.9x7.9x4.0 2 - D npoxapagn
SL-L33.5 33.5x3.0 1 [ ] a&ovag

(5023 . OPEZEX MOAYTPYMANOY - COUNTERSINK FOR DRILL BITS I

nay il -
AEZ=. Dx AP. Sx ) [ L S
5023-004 5023-104 4
Lo 910 = 5023-005 5023-105 5
5023-006 5023-106 6
5023-007 5023-107 7

! 5023-008 5023-108 8

% 5023-082 5023-182 8,2
L / 5023-009 5023-109 9
45° 5023-010 5023-110 10
\: \ 5023-011 5023-111 11
i 5023-012 5023-112 12
5023-014 5023-114 14
5023-5-10R 5023-5-10L 5-10
5023-11-12R  50023-11-12L  11-12
-— @D —
= G310 =
I R
“5{ oy N
L -4 / 45
|
A
N
Z2

@ 52



|IJ’|__'

\ ®QAIA AYTOMATH BIESSE - QUICK CHANGE DRILL HOLDER /‘

AEZ=. Dx

AP. Sx D
5022-12-001

AEZ=. Dx

AP. Sx D d L
5022-12-005 20 10 43
5022-12-006 16 10 43
5022-12-007  5022-12-008 20 M10 43

IMHKE . 0QAIA AYTOMATH GRIGGIO - QUICK CHANGE DRILL HOLDER  5022-12)

KQAIKOZ
5022-12-003

D d
20

10 40

63 18



(50222 . ©QAIA AYTOMATH VITAP - QUICK CHANGE DRILL HOLDER ~ BIMH|

KQAIKO> ) d L
5022-12-002 18 10 42

(502212 ®QAIA AYTOMATH BUSELLATO - QUICK CHANGE DRILL HOLDER,~ Bl

KQAIKO> D d L

LN T 5022-12-004 19 10 34,5

(502212 . ®QAIA AYTOMATH WEEKE - QUICK CHANGE DRILL HOLDER Bl

KQAIKOZ D d L
d 5022-12-009 20 10 46

@ 54



®QAIA AYTOMATH - QUICK CHANGE DRILL HOLDER ~ 5022-17)

KQAIKOZ D d
5022-17-001 18 10 34

O®QAIA AYTOMATH - QUICK CHANGE DRILL HOLDER /‘

d B
M10 22,5

18 KQAIKOZ
A 5022-18-001

M10

KE . ©QAIA ISIA IOAYTPYTIANOY - QUICK CHANGE DRILL HOLDER  5022-10)

e
3 1M

PL' AEZ=. Dx AP. Sx d B
10 * 5022-10-008 5022-10-108 M8 22,5
1 5022-10-010 5022-10-110 M10 225
T
' N * mpoidv katdmv napayyehiag
=]
3O

65 418




—19 AE=. Dx AP. Sx d B
10 * 5022-11-008 5022-11-108 M8 25,5

- i 5022-11-010  5022-11-110 M10 25,5
* mpoidv katdm napayyehag
i e
~— : O
w ‘..-..-
3DI
M10
—
(5022-14 . KOAETZ IZ10 MOAYTPYMANOY - CHUCKS FOR JOBBER DRILLS ,~ BIMHKE
KQAIKOZ D L d
5022-14-220 2,0
5022-14-225 2,5
i 5022-14-230 3,0
5022-14-232 3,2
5022-14-235 3,5
25 5022-14-240 4,0
5022-14-250 5,0
!
(502215 . KOAETE MOAYTPYMANOY - CHUCKS FOR JOBBER DRILLS ~~ BIMHKE
KQAIKO3Z D L d
0 5022-15-220 2,0
_— 5022-15-225 2,5
' i 5022-15-230 3,0
Pl 5022-15-232 3,2
! 25 5022-15-235 3,5
- 5022-15-240 4,0
35 \ b, ! 5022-15-250 5,0
7
oo

@ .66



ungue Y P. napaywyil







KQAIKOZ KOTZANI
D I L S
_ 9-9NT-080 8 22 80 8
A 9-9NT-100 10 32 80 10
9-9NT-120 12 32 100 12
9-9NT-140 14 42 100 14
9-9NT-160 16 42 100 16
9-9NT-180 18 52 100 18
9-9NT-200 20 52 100 20

5

do

—
9-9P-140 14 20 95 155 14
' 9-9P-160-30-100-155 16 30 100 155 16
9-9P-180-155 18 30 100 155 18

2

6o 48



D I L S
9-9N-080 8 22 80 8
9-9N-080A 8 32 80 8
9-9N-100 10 32 80 10
9-9N-100A 10 42 100 10
9-9N-120 12 32 80 12
9-9N-120A 12 42 100 12
9-9N-120B 12 52 100 12
9-9N-160 16 42 100 16
9-9N-160A 16 52 100 16
9-9N-160B 16 72 120 16
9-9N-180A 18 72 120 18
9-9N-200A 20 72 120 20
9-9N-200B 20 102 150 20
9-9N-200-55 20 55 120 20

- KQAIKOX KOTZANI
D | L S |
9-9D-030 3 12 50 3
K— —— 9-9D-040 4 12 50 4
! 9-9D-050 5 15 60 5
9-9D-060A 6 27 60 6
9-9D-080A 8 32 80 8
9-9D-100A 10 42 100 10
9-9D-120B 12 52 100 12
i
L
|
|
|
\/
I
! L_/ Y

2



-—-—‘ @S —=
.

i 9-9E-030 3 12 5o 3

9-9E-040 4 12 50 4

9-9E-060 6 17 60 6

9-9E-060A 6 27 60 6

9-9E-080 8 22 80 8

9-9E-080A 8 32 80 8

9-9E-100 10 32 80 10

9-9E-100A 10 42 100 10

—— @S r—— AEZ. Dx AP. Sx D I L S
9-9F-080 8 22 80 8

_ 9-9F-080A 8 32 80 8

A i 9-9F-100 10 32 80 10
9-9F-100A * 9.9F-010 10 42 100 10

9-9F-120 12 32 80 12

9-9F-120A * 9.9F-012 12 42 100 12

9-9F-120B 12 52 100 12

9-9F-140 *99F-140A 14 52 100 14

9-9F-160 16 42 100 16

9-9F-160A * 9.9F-016 16 52 100 16

9-9F-160B 16 72 120 16

L 9-9F-180 * 9.9F-018 18 55 120 18
9-9F-200 20 52 100 20

9-9F-200A 20 72 120 20

9-9F-200B 20 102 150 20

9-9F-200-55  * 9-9F-020 20 55 120 20

=

[ 48



KQAIKOZ ) L a b [¢] Z

DIA-AK005 32 68.5 6 8.5 12.7 2+1
DIA-AK002 34 100 3 8.6 20 2+1
DIA-12333-03P 27.5 85 6.6 8.3 20 2+1

415 L

998
an

5717
[ —

-enavarpoxiopevo poutep DIA T-SLOT

-duvatdtnteq TPoX(opaTog: 2-3 popEg

-aplBudg dovtiwy Z=2+1

-dlduetpog 32mm / 34mm / 27.5mm

-KUAIVOPLKS KOTOAVL

-KOTTY) PWIPIONATOG (TENKY] ETIPAVELQ)

-Ta poutep ouvodevovtal and Bida pubuioewq yia didpopa PRk

@4

T

3
(1l
g

TAIPIAZEI ZE

DIA-AK00S eNaoTIKA KOAeTG, okt peg HYDRO

TYNOI MHXANQN

L auTtdépara Kal Xelpokivnta router
unxavég kat kévtpa karepyaoiag CNC
. E YAIKO
poplooavida kat MDF akatépyaota 1} pe pehauivn, Kamhapdg Kat gupnieopéva
D@“..,..J..ﬁ = 8’ eAdopara, okAnPd EUAa KATT
- r,.,..,....,.,_.,.j,.,.,....,,-,.,,.-.,-,. i E— . ~ Zlo
B - o|Cla
a9

73.68

DIA-AK002

‘lig:)i_ -re-sharpenable diamond T-slot router
------Eg---“ — -re-sharpening possibilities: 2-3 times
3
=
=

-number of teeth Z=2+1

-diameters 32mm / 34mm / 27.5mm

-cylindrical shank

55 : -excellent panel-edge finish

-routers supplied with adjustment screw for length variation

aD

FITS ON TO
DIA-12333-03P elastic collet and hydro chucks

FOR USE ON MACHINES TYPES
automatic and manual router

TEXN. XAPAKTHPIZTIKA / TECHNICAL INFORMATION machines and CNC work centers

UAK6 korg / cutting material: DP

poper) dovtiou / tooth shape: STRAIGHT MATERIAL
YewpeTpia korrig / cutting geometry: POSITIVE particleboard and MDF boards, both raw or with melamine, veneer and foil lami-
didotaon dtapavtiot / PCD tip height: 3mm nated, hardwoods etc
6€om SovtioU / tooth seating: ENCASED AT 30
dldpetpog poutep / tool diam. péyloTn TaxuT. / max rpm
32/34/275 30000 / 30000 / 24000

@2



POYTEP TYMNOY T-SLOT - ROUTER TYPE T-SLOT

- 2 .
13
r | B P
-]
o Bt !
(< (=]
E =
(]
b
DIA-AA103/104
b
a
- W
-
BE3-—¥-p--- R B
45 o3
L 1
DIA-AK009
a
; T
-
—
_‘@Em ____________________
oA
55 b

DIA-12333-02P

UAKS korg / cutting material: DP

Hop@r| dovtiol / tooth shape: STRAIGHT

yewueTpia kommg / cutting geometry: POSITIVE

Sidotaon dlapavtiot / PCD tip height: 3.5mm / 3.0mm

B€om dovtiol / tooth seating: ENCASED AT 30

SldpeTpog poutep / tool diam. UEyloTn TaxuT. / max rpm
35/33/28 30000

KQAIKOZ
AE=. Dx AP. Sx Dmax Dmin L a b d Z
DIA-AA103 DIA-AA104 35 9.5 59 15 6.35 127 2+1

DIA-AK009 33 1293 100 3 94 20 2+1
DIA-12333-02P 28 90 98 73 20 2+1

-enavarpoxiiopevo poutep DIA T-SLOT

-duvatdtnteq TPOoXIOMaTog: 2-3 POPES

-aplBudg dovtiwy Z=2+1

-3lAapeTpog 35mm / 33mm / 28mm

-KUAVOPIKS KOTOAVL

-KOTT) PWIPIONATOG (TENKY ETPAVELQ)

-Ta poutep ouvodevovtal and Bida pubuioewg yia didpopa PRk

TAIPIAZEI ZE
eNaoTIKd KOAeTg, okt peg HYDRO

TYNOI MHXANQN
auTtépaTa Kal Xelpokivnta router
unxavég kat kévtpa karepyaciag CNC

YAIKO
poplooavida kat MDF akatépyaota 1} pe pehauivn, KarmAapdg Kat gupnieopéva
eAdopara, okAnpd EUAa KAT

-re-sharpenable diamond T-slot router

-re-sharpening possibilities: 2-3 times

-number of teeth Z=2+1

-diameters 35mm / 33mm / 28mm

-cylindrical shank

-excellent panel-edge finish

-routers supplied with adjustment screw for length variation

FITS ON TO
elastic collet and hydro chucks

FOR USE ON MACHINES TYPES
automatic and manual router
machines and CNC work centers

MATERIAL

particleboard and MDF boards, both raw or with melamine, veneer and foil lami-
nated, hardwoods etc

[73 48




POYTEP TYNOY DP4 - ROUTER TYPE DP4 ~ BIMHKE)

AEZ. Dx . Z
DIA-DP4 01D  DIA-DP4 01S 25 95 28 4 20x55
DIA-DP4 02D DIA-DP4 02S 25 95 28 4 25x55
DIA-DP4 03D DIA-DP4 03S 25 105 35 4 20x55
DIA-DP4 04D DIA-DP4 04S 25 105 35 4 25x55
DIA-DP4 05D  DIA-DP4 05S 25 115 45 4 20x55
DIA-DP4 06D DIA-DP4 06S 25 115 45 4 25x55
DIA-DP4 07D  DIA-DP4 07S 25 120 50 4 20x55
DIA-DP4 08D  DIA-DP4 08S 25 120 50 4 25x55
S :
-enavarpoxiiopevo poutep DIA
— -duvatdtnteq Tpox(opatog: 6-8 popeg
-yla TIEPUUETPIKT| KOTTH
-aploudg dovtiwy Z=4
-dldueTpog 25mm
-KUAVOPLKS KOTOAVL
-XaunAn eknopmr BopuRou eEartiag Tng B€ong Twv korttikwv DIA
-15avikr) eEaywyn Twv POKaVISIWY
-kom PviplopaToq (TeAKN emipdvela)
-Ta poUtep ouvodevovtal and Bida pubuioewg yia didpopa HrAkn
i i i , TAIPIAZEI ZE
UAIKO: poplooavida pe emukaAudn peAapivng £AQOTIKA KOAETS, opIKTApes HYDRO
material: particleboard with melamine coating
TYNOI MHXANQN
i auTéuaTa Kat XetpokivTa router
15 unxaveég kat kévtpa karepyaciag CNC
30
25 YAIKO
20 poplooavida kat MDF akatépyaota 1} pe pehauivn, Kamhapdg Kat gupnieopéva
= :g eAAOHOTA, OKANPEA EUAA KATT
£
=z 0 10 20 30 40 50
HD(mm) — =
nivakag yla Tov kaboplopd Tng Tay. Komrg Tou
niéivel avdloya pe TNV SIAUETPO KOTING, TO TIAXO0G
TOU Ttdvel Kal Tov TUTIO TOU UAKOU
-€(PAPUOYY): E0WTEPIKO TEUMNUA TIAVEN
-RPM: 18000
chart fot deter mining th'e correct panel feed speed -re-sharpenable diamond router with cylindrical shank
based on the cutting diameter, thickness of the panel -re-sharpening possibilities: 6-8 times
and type of material for edging
-application: internal panel routing -number of teeth Z=4
-RPM: 18000 -diameters 25mm
-cylindrical shank
-low noise emission due to positioning of the cutting tips
-optimum wood chip ejection
-excellent panel-edge finish
-routers supplied with adjustment screw for length variation
FITS ON TO
elastic collet and hydro chucks
UAIKOG korg / cutting material: DP FOR USE ON MACHINES TYPES
Hop@r} Sovtiou / tooth shape: CONVERGING AXIAL automatic and manual router
yewpetpia korg / cutting geometry: POSITIVE machines and CNC work centers
Sidotaon dapavtiol / PCD tip height: 4.7mm
8o SovTiol / tooth seating: STRAIGHT MATERIAL
BlapETPOG poUTep / tool diam.  péyiotn TaxUT. / max rpm particleboard and MDF boards, both raw or with melamine, veneer and foil lami-
25 30000 nated, hardwoods etc.

@ 74



'BIMHKE POYTEP TYNOY DP3 - ROUTER TYPE DP3 P8 )

AE=. Dx . 4
DIA-DP3 01D  DIA-DP3 01S 18 95 28 3 20x55
DIA-DP3 02D  DIA-DP3 02S 18 95 28 & 25x55
DIA-DP3 03D  DIA-DP3 03S 20 95 28 3 20x55
DIA-DP3 04D  DIA-DP3 04S 20 95 28 & 25x55
DIA-DP3 05D  DIA-DP3 05S 20 105 35 3 20x55
DIA-DP3 06D  DIA-DP3 06S 20 105 35 3 25x55
DIA-DP3 07D  DIA-DP3 07S 20 115 45 3 20x55
DIA-DP3 08D  DIA-DP3 08S 20 115 45 3 25x55
DIA-DP3 09D  DIA-DP3 09S 25 95 28 3 20x55
DIA-DP3 10D  DIA-DP3 10S 25 95 28 3 25x55
DIA-DP3 11D  DIA-DP3 11S 25 105 35 3 20x55
DIA-DP3 12D  DIA-DP3 12S 25 105 35 3 25x55
DIA-DP3 13D  DIA-DP3 13S 25 115 45 3 20x55
DIA-DP3 14D  DIA-DP3 14S 25 115 45 3 25x55
DIA-DP3 15D  DIA-DP3 15S 25 120 50 3 20x55
DIA-DP3 16D  DIA-DP3 16S 25 120 50 3 25x55
s ! g
""" D@ B e -enavarpoxiopevo poutep DIA
-duvatdtnteq TPoxX(opaTog: 6-8 PopEg
¢y HDP=ATmM L -y1Q TIEPIUETPIKY] KOTT
-aploudg dovtiwy Z=3
-dlduetpog 18-25mm
-KUAVOPIKS KOTOAVL
-akida tpurniuarog HM
-XaunAn ekropmnr BopuRou eEartiag Tng B€ong Twv kortikwv DIA
-KaAY) eEaywyn Twv pokavidlwy yia dtdpetpo 18-20mm
-13avIKr) eEaywyn TwV pokaviSIV yia SIAPETPO 25mm
-komA Pviplopatoq (TeAkn empdvela)
) ) ) | -Ta pouTep ouvodelovtal and Bida pubuicewg yla didpopa Urikn
UAIKO: poplooavida pe erKAAUYN peAapivng
material: particleboard with melamine coating TAIPIAZEI SE
eNaoTIKd kKOAeTG, oIkt peg HYDRO
45
o TYNOI MHXANQN
ig QUTGUATA KAl XELPOKivTa router
20 \ unxavég kat kévtpa katepyaciag CNC
= 15
E 0 YAIKO
E 5 . ( . . . .
s, 10 20 30 40 50 uoplocawéa Kat MDF AKATEPYAOTA 1) JE HEAQUIVN, KAMAQUAG KAl CUMTIIEOUEVA
HD(mm) —~ ehNdopata, okAnEd EUAa KATT
nivakag yla Tov kaboplopd Tng Tay. Komrg Tou
néivel avdloya pe TNV SIAUETPO KOTING, TO TIAXO0G
Tou Ttdvel Kat Tov TUTIO TOU UAKOU
-OlApETPOG: 25mm
-€(PAPHOYY): E0WTEPIKO TPUMNUA TIAVEN
-RPM: 18000 o -re-sharpenable diamond router with cylindrical shank
chart fot determining the correct panel feed speed -re-sharpening possibilities: 6-8 times
based on the cutting diameter, thickness of the panel -for boring and edging
and type of material -number of teeth Z=3
-diameters: 25mm -diameters 18-25mm
-application: internal panel routing -cylindrical shank
-RPM: 18000 -HM boring tip
-low noise emission due to positioning of the cutting tips
-good wood chip ejectin for diameter 18-20mm
-optimum wood chip ejection for diameter 25mm
-excellent panel-edge finish
-routers supplied with adjustment screw for length variation
FITS ON TO
elastic collet and hydro chucks
UAIKS Komrig / cutting material: DP
Hop®r) Sovtiol / tooth shape: CONVERGING AXIAL FOR USE ON MACHINES TYPES
yYewpeTpia kormg / cutting geometry: POSITIVE automatic and manual router
Siaotaon diapavtiol / PCD tip height: 4.7mm machines and CNC work centers
B€on dovtiou / tooth seating: STRAIGHT
Siduetpog poutep / tool diam.  péylotn taxut. / max rpm MATERIAL
18 32000 . . . . .
20-25 30000 particleboard and MDF boards, both raw or with melamine, veneer and foil lami-

nated, hardwoods etc.



POYTEP TYNOY DP2M3 - ROUTER TYPE DP2M3

an

Loy HOP=2mm

UAIKO: poplooavida pe emukAAuyn pehapivng
material: particleboard with melamine coating

25
20 i I A
15
10

5

Viim/min)

o 5 10 15 20 25 30 35 40 45 50

HDimm) — [

Tivakag yla Tov KaBoplopd g Tay. KOG Tou TIAvel
avdhoya pe v SIAUETPO KOTAG, TO TIAXO0G TOU TIAVEA
Kat Tov TUTo Tou UAIKOU

-OldpeTpog: 18-20mm

-EPAPHOYT): E0WTEPIKS TPUTINA TIAVEA

-RPM: 18000

chart fot determining the correct panel feed speed based
on the cutting diameter, thickness of the panel and type
of material

-diameters: 18-20mm

-application: internal panel routing

-RPM: 18000

TEXN. XAPAKTHPIZTIKA / TECHNICAL INFORMATION

UNIKS Kot / cutting material: DP

Hop®r} Sovtiol / tooth shape: AXIAL

yYewpeTpia komm|q / cutting geometry: POSITIVE

Sidotaon diapavtiol / PCD tip height: 3,0mm

B€on dovtiou / tooth seating: ENCASED at 30

SlapeTpog poutep / tool diam.  p€ylotn Taxut. / max rpm
18 25000

20 24000

AE=. Dx
DIA-DP2M3 01D

DIA-DP2M3 018

18 75 254  2+2 16x40
DIA-DP2M3 02D DIA-DP2M3 02S 18 85 254 2+2 18x50
DIA-DP2M3 03D DIA-DP2M3 03S 18 85 254 2+2 20x50
DIA-DP2M3 04D DIA-DP2M3 04S 18 90 254 2+2 25x55
DIA-DP2M3 05D DIA-DP2M3 05S 18 85 35 2+2 16x40
DIA-DP2M3 06D DIA-DP2M3 06S 18 95 35 2+2 18x50
DIA-DP2M3 07D DIA-DP2M3 07S 18 95 35 2+2 20x50
DIA-DP2M3 08D DIA-DP2M3 08S 18 100 35 2+2 25x55
DIA-DP2M3 09D DIA-DP2M3 09S 18 95 43 2+2 16x40
DIA-DP2M3 10D DIA-DP2M3 10S 18 105 43 2+2 20x50
DIA-DP2M3 11D DIA-DP2M3 11S 18 110 43 2+2 25x55
DIA-DP2M3 12D DIA-DP2M3 12S 20 120 51 2+2 20x55
DIA-DP2M3 13D DIA-DP2M3 13S 20 120 51 2+2 25x55

-enavarpoxiiopevo poutep DIA

-duvatdtnteq Tpoxioparog: 3-4 GpopEg

-yla TPUTINHA Kat TIEPLUETPIKT KOT)

-aplOudg dovtiwy Z=2+2

-dldpetpog 18-20mm

-KUAVOPLKS KOTOAVL

-akida tpurmiuarog HM

-XaunAn eknopmr BopuRou eEartiag Tng B€ong Twv kortikwv DIA
-15avikr) eEaywyn Twv POKaVISIWY

-komA PviplopaToq (TeAKn emipdvela)

-Ta poUtep ouvodevovtal and Bida pubuioewg yia didpopa prikn

TAIPIAZEI ZE
eNaoTIKd KOAeTg, okt peg HYDRO

TYNOI MHXANQN
autépata kal Xelpokivnta router
unxavég kat kévtpa karepyaciag CNC

YAIKO
poplooavida kat MDF akatépyaota 1} pe pehauivn, KamAapdg Kat guprnieopéva
eAdopara, okAnped EUAa KAT

-re-sharpenable diamond router with cylindrical shank
-re-sharpening possibilities: 3-4 times

-for boring and edging

-number of teeth Z=242

-diameters 18-20mm

-cylindrical shank

-HM boring tip

-low noise emission due to positioning of the cutting tips
-optimum wood chip ejection

-excellent panel-edge finish

-routers supplied with adjustment screw for length variation

FITS ON TO
elastic collet and hydro chucks

FOR USE ON MACHINES TYPES
automatic and manual router
machines and CNC work centers

MATERIAL

particleboard and MDF boards, both raw or with melamine, veneer and foil lami-
nated, hardwoods etc



an

HDP=2mm

A

UAIKO: poplooavida pe emikAAuYn peAapivng
material: particleboard with melamine coating

25

15
10

o 5 10 15 20 25 30 35 40 45 50

HDimm) — [

Viimimin)
w

nivakag yla Tov kaboplopd Tng Tay. Komrg Tou
néivel avdloya pe TNV SIAUETPO KOTING, TO TIAXO0G
Tou Ttdvel Kat Tov TUTIO TOU UAKOU

-OldpeTpog: 18-20mm

-€(PAPHOYY): E0WTEPIKO TPUMNUA TIAVEN

-RPM: 18000

chart fot determining the correct panel feed speed
based on the cutting diameter, thickness of the panel
and type of material

-diameters: 18-20mm

-application: internal panel routing

-RPM: 18000

TEXN. XAPAKTHPIZTIKA / TECHNICAL INFORMATION

UAIKS Komrig / cutting material: DP

Hoper} Sovtiou / tooth shape: AXIAL

yYewpeTpia kormg / cutting geometry: POSITIVE

diaotaon diapavtiot / PCD tip height: 2,0mm

B€on dovtiou / tooth seating: ENCASED at 30

Siduetpog poutep / tool diam.  péylotn taxut. / max rpm
18 25000

20 24000

AE=. Dx
DIA-DP2M2 01D
DIA-DP2M2 02D
DIA-DP2M2 03D
DIA-DP2M2 04D
DIA-DP2M2 05D
DIA-DP2M2 06D
DIA-DP2M2 07D
DIA-DP2M2 08D
DIA-DP2M2 09D
DIA-DP2M2 10D
DIA-DP2M2 11D
DIA-DP2M2 12D
DIA-DP2M2 13D

DIA-DP2M2 01S
DIA-DP2M2 02S
DIA-DP2M2 03S
DIA-DP2M2 04S
DIA-DP2M2 05S
DIA-DP2M2 06S
DIA-DP2M2 07S
DIA-DP2M2 08S
DIA-DP2M2 09S
DIA-DP2M2 10S
DIA-DP2M2 118
DIA-DP2M2 12S
DIA-DP2M2 13S

-enavarpoxiopevo poutep DIA
-duvatdmreq Tpoxioparog: 1-2 popéqg

-yla TPUTNHA Kal TIEPLUETPLKT| KO

-aplBudg dovtiwy Z=2+2
-dlduetpog 18-20mm
-KUAVOPIKS KOTOAVL
-akida tpurniuarog HM

-XaunAn ekropmnr BopuRou eEartiag Tng B€ong Twv kortikwv DIA

-15avikr) eEaywyn Twv POKaVISIWY
-komA Pviplopatog (TeAkn empdvela)

-Ta poutep ouvodevovtal and Bida pubuioewg yia didpopa Pk

TAIPIAZEI ZE

eNaoTIKd kKOAeTg, okt peg HYDRO

TYNOI MHXANQN
autéuata kal Xelpokivnta router
unxavég kat kévtpa katepyaciag CNC

YAIKO

poplooavida kat MDF akatépyaota 1} pe pehauivn, KarmAapdg Kat gupnieopéva

ehdopara, okAnped EUAa KAT

25.4
25.4
25.4
25.4
35
35

35
43
43
43
51
51

-re-sharpenable diamond router with cylindrical shank

-re-sharpening possibilities: 1-2 times

-for boring and edging
-number of teeth Z=2+2
-diameters 18-20mm

-cylindrical shank
-HM boring tip

-low noise emission due to positioning of the cutting tips
-optimum wood chip ejection
-excellent panel-edge finish

-routers supplied with adjustment screw for length variation

FITS ON TO

elastic collet and hydro chucks

FOR USE ON MACHINES TYPES
automatic and manual router
machines and CNC work centers

MATERIAL

particleboard and MDF boards, both raw or with melamine, veneer and foil lami-

nated, hardwoods etc

2+2
2+2
2+2
2+2
2+2
2+2
2+2
2+2
2+2
2+2
2+2
2+2
2+2




POYTEP TYINOY DP1M3 - ROUTER TYPE DP1M3

o s

. _HDP=2mm

UNIKO: poplooavida pe erkAaluyn pekapivng
material: particleboard with melamine coating

\ P16 @120

212

"

o

MW B Loy

Vi{m/min)

'] 5 10 15 20 25 30 35 40 45 50

HD(mm) ———— =

UAKO: MDF pe eriikdAuym peAapivng
material: MDF with melamine coating

n
10

: ——\N

@16 ia.
o12 @18-20

oW B~

Viim/min)

0 5 10 15 20 25 30 35 40 45 50

HOlmm) ————— =

nivakag yla Tov kaboplopd Tng Tax. Komrg Tou
ndive avdloya pe TNV SIAUETPO KOTING, TO TIAXO0G
TOU TtdveA Kat Tov TUTIO TOU UAKOU

-€(PAPUOYY): E0WTEPIKO TPUMNUA TIAVEN

-RPM: 18000

chart fot determining the correct panel feed speed
based on the cutting diameter, thickness of the panel
and type of material

-application: internal panel routing

-RPM: 18000

TEXN. XAPAKTHPIZTIKA / TECHNICAL INFORMATION

UAIKS komrig / cutting material: DP

Hop@r} Sovtiou / tooth shape: AXIAL

yewpeTpia kormg / cutting geometry: POSITIVE

diaotaon diapavtiot / PCD tip height: 3,0mm

B€om dovtiou / tooth seating: ENCASED at 30

Sidpetpog poutep / tool diam.  péylotn taxut. / max rpm
16 27000

18 25000
20 24000

DIA-DP1M3 01D
DIA-DP1M3 02D
DIA-DP1M3 03D
DIA-DP1M3 04D
DIA-DP1M3 05D
DIA-DP1M3 06D
DIA-DP1M3 07D
DIA-DP1M3 08D
DIA-DP1M3 09D
DIA-DP1M3 10D
DIA-DP1M3 11D
DIA-DP1M3 12D
DIA-DP1M3 13D
DIA-DP1M3 14D
DIA-DP1M3 15D
DIA-DP1M3 16D
DIA-DP1M3 17D

DIA-DP1M3 01S
DIA-DP1M3 02S
DIA-DP1M3 03S
DIA-DP1M3 04S
DIA-DP1M3 05S
DIA-DP1M3 06S
DIA-DP1M3 07S
DIA-DP1M3 08S
DIA-DP1M3 09S
DIA-DP1M3 10S
DIA-DP1M3 11S
DIA-DP1M3 12S
DIA-DP1M3 13S
DIA-DP1M3 14S
DIA-DP1M3 15S
DIA-DP1M3 16S
DIA-DP1M3 17S

-enavarpoxiiopevo poutep DIA
-duvatdtnteq Tpoxioparog: 3-4 GpopEg

-yla TPUTINHA Kat TIEPLUETPIKT KOT)

-aploudg dovtiwy Z=1+1
-dldpetpog 16-20mm
-KUAVOPLKS KOTOAVL
-akida tpurmiuarog HM

-XaunAn eknopmr BopuRou eEartiag Tng B€ong Twv kortikwv DIA

-15avikr) eEaywyn Twv POKaVISIWY
-komA PviplopaToq (TeAKn emipdvela)

-Ta poUtep ouvodevovtal and Bida pubuioewg yia didpopa prikn

TAIPIAZEI ZE

eNaoTIKd KOAeTg, okt peg HYDRO

TYNOI MHXANQN
autépata kal Xelpokivnta router
unxavég kat kévtpa karepyaciag CNC

YAIKO

poplooavida kat MDF akatépyaota 1} pe pehauivn, KamAapdg Kat guprnieopéva

eAdopara, okAnped EUAa KAT

25.4
25.4
35
35
25.4
25.4
25.4
25.4
35
35
35
35

43
43
51
51

-re-sharpenable diamond router with cylindrical shank

-re-sharpening possibilities: 3-4 times

-for boring and edging
-number of teeth Z=1+1
-diameters 16-20mm

-cylindrical shank
-HM boring tip

-low noise emission due to positioning of the cutting tips

-optimum wood chip ejection
-excellent panel-edge finish

-routers supplied with adjustment screw for length variation

FITS ON TO

elastic collet and hydro chucks

FOR USE ON MACHINES TYPES

automatic and manual router
machines and CNC work centers

MATERIAL

particleboard and MDF boards, both raw or with melamine, veneer and foil lami-

nated, hardwoods etc

1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1

16x40
25x55
16x40
25x55
16x40
18x50
20x50
25x55
16x40
18x50
20x50
25x55
16x40
20x50
25x55
20x55
25x55



POYTEP TYMNOY DP1M2 - ROUTER TYPE DP1M2

. _HDP=2mm

UNIKO: poplooavida pe erkAaluyn pekapivng
material: particleboard with melamine coating

"

—_—

o

P16 @120

MW R~
=
]

Vi{m/min)

'] 5 10 15 20 25 30 35 40 45 50

HD(mm) ———— =

UAIKO: MDF pe eriik@Auym peAapivng
material: MDF with melamine coating

n
10

9
s \
‘ @16
@18-20
@12

oW B~

Viim/min)

0 5 10 15 20 25 30 35 40 45 50

HOlmm) ————— =

nivakag yla Tov kaboplopd Tng Tax. Komrg Tou
néve avdloya pe TNV SIAUETPO KOTING, TO TIAXO0G
TOU TdveA Kat Tov TUTIO TOU UAKOU

-€(PAPHOYY): EOWTEPIKO TPUMNUA TIAVEN

-RPM: 18000

chart fot determining the correct panel feed speed
based on the cutting diameter, thickness of the panel
and type of material

-application: internal panel routing

-RPM: 18000

TEXN. XAPAKTHPIZTIKA / TECHNICAL INFORMATION

UAIKO Komrig / cutting material: DP

Hop@r) dovtiol / tooth shape: AXIAL

yYewpeTpia kormg / cutting geometry: POSITIVE

didotaon diapavtiol / PCD tip height: 2,0mm

B€on dovtiou / tooth seating: ENCASED at 30

dlduetpog poltep / tool diam.  péylotn Taxut. / max rpm
12

30000
16 27000
18 25000
20 24000

KQAIKOZ

AE=. Dx
DIA-DP1M2 01D
DIA-DP1M2 02D
DIA-DP1M2 03D
DIA-DP1M2 04D
DIA-DP1M2 05D
DIA-DP1M2 06D
DIA-DP1M2 07D
DIA-DP1M2 08D
DIA-DP1M2 09D
DIA-DP1M2 10D
DIA-DP1M2 11D
DIA-DP1M2 12D
DIA-DP1M2 13D
DIA-DP1M2 14D
DIA-DP1M2 15D
DIA-DP1M2 16D
DIA-DP1M2 17D
DIA-DP1M2 18D
DIA-DP1M2 19D

AP. Sx
DIA-DP1M2 01S
DIA-DP1M2 02S
DIA-DP1M2 03S
DIA-DP1M2 04S
DIA-DP1M2 05S
DIA-DP1M2 06S
DIA-DP1M2 07S
DIA-DP1M2 08S
DIA-DP1M2 09S
DIA-DP1M2 10S
DIA-DP1M2 11S
DIA-DP1M2 12S
DIA-DP1M2 13S
DIA-DP1M2 14S
DIA-DP1M2 15S
DIA-DP1M2 16S
DIA-DP1M2 17S
DIA-DP1M2 18S
DIA-DP1M2 19S

-enavarpoxiopevo poutep DIA
-duvatdmreq Tpoxioparog: 1-2 popéqg

-yla TPUTNHA Kal TIEPLUETPLKT| KO

-apBudg dovtiwv Z=1+1
-dlduetpog 12-20mm
-KUAVOPIKS KOTOAVL
-akida tpurniuarog HM

-XaunAn ekropmnr BopuRou eEartiag Tng B€ong Twv kortikwv DIA

-15avikr) eEaywyn Twv POKaVISIWY
-komA Pviplopatog (TeAkn empdvela)

-Ta poutep ouvodevovtal and Bida pubuioewg yia didpopa Pk

TAIPIAZEI ZE

eNaoTIKd kKOAeTg, okt peg HYDRO

TYNOI MHXANQN
autéuata kal Xelpokivnta router
unxavég kat kévtpa katepyaciag CNC

YAIKO

]
12

16
16

16
18

18
18

18
18

18
18

20
20

L
75

75
90

100
75

85
90
85
95

100
95

105
110
120
120

|
25.4
25.4
25.4
25.4

35
25.4
25.4
25.4
25.4

35

35

35

35

43

43

43

51

51

4
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1

/P2

KOTZANI
S
12x40
25x55
16x40
25x55
16x40
25x55
16x40
18x50
20x50
25x55
16x40
18x50
20x50
25x55
16x40
20x50
25x55
20x55
25x55

poplooavida kat MDF akatépyaota 1} pe pehauivn, KarmAapdg Kat gupnieopéva
ehdopara, okAnped EUAa KAT

-re-sharpenable diamond router with cylindrical shank

-re-sharpening possibilities: 1-2 times

-for boring and edging
-number of teeth Z=1+1
-diameters 12-20mm

-cylindrical shank
-HM boring tip

-low noise emission due to positioning of the cutting tips

-optimum wood chip ejection
-excellent panel-edge finish

-routers supplied with adjustment screw for length variation

FITS ON TO

elastic collet and hydro chucks

FOR USE ON MACHINES TYPES

automatic and manual router
machines and CNC work centers

MATERIAL

particleboard and MDF boards, both raw or with melamine, veneer and foil lami-

nated, hardwoods etc




POYTEP TYNOY DPUG - ROUTER TYPE DPUG

HDP=2mm

UAIKO: poplooavida pe emikAluyn pehapivng
material: particleboard with melamine coating

810-12 #18

1

MW O~

Vilim/min)

0 5 0 15 0 25 30 35 40 45 50

HDimm) —— =

UNKO: MDF e eriik@Augn peAapivng
material: MDF with melamine coating

11

LR AT
=
=
o
=

Wilm/min}

] 5 W 15 20 25 30 35 40 45 50

HD(mm) —— =

nivakag yla Tov kaboplopud g Tay. Komig Tou
rtéivel avdloya pe TNV SIAUETPO KOTIG, TO TIAX0G
Tou TAveA Kat Tov TUTIO TOU UALKOU

-€PAPUOYY): E0WTEPIKO TPUMNUA TIAVEN

-RPM: 18000

chart fot determining the correct panel feed speed
based on the cutting diameter, thickness of the panel
and type of material

-application: internal panel routing

-RPM: 18000

TEXN. XAPAKTHPIZTIKA / TECHNICAL INFORMATION

UAIKO Koriig / cutting material: DP

Hop®n) dovtiol / tooth shape: AXIAL

YewpeTpia kommq / cutting geometry: POSITIVE

Sldotaon dapavtiou / PCD tip height: 2,0mm

B€on dovtiou / tooth seating: ENCASED at 30

SlapeTpog poutep / tool diam.  péylotn TaxUT. / max rpm

10 34000
12 30000
16 27000
18 25000
20 24000

AE=. Dx
DIA-DPUG 40D
DIA-DPUG 41D
DIA-DPUG 01D
DIA-DPUG 02D
DIA-DPUG 03D
DIA-DPUG 04D
DIA-DPUG 05D
DIA-DPUG 06D
DIA-DPUG 36D
DIA-DPUG 30D
DIA-DPUG 07D
DIA-DPUG 08D
DIA-DPUG 32D
DIA-DPUG 34D
DIA-DPUG 09D
DIA-DPUG 10D
DIA-DPUG 38D
DIA-DPUG 11D
DIA-DPUG 12D
DIA-DPUG 19D
DIA-DPUG 20D

DIA-DPUG 41S
DIA-DPUG 01S
DIA-DPUG 02S
DIA-DPUG 03S
DIA-DPUG 04S
DIA-DPUG 05S
DIA-DPUG 06S
DIA-DPUG 36S
DIA-DPUG 30S
DIA-DPUG 07S
DIA-DPUG 08S
DIA-DPUG 32S
DIA-DPUG 34S
DIA-DPUG 09S
DIA-DPUG 10S
DIA-DPUG 38S
DIA-DPUG 11S
DIA-DPUG 12S
DIA-DPUG 19S
DIA-DPUG 20S

-enavarpoxiiopevo poutep DIA
-duvatdtnreg Tpoxiopatoq: 1-2 popeg

-yla TPUTNHUA Kat TIEPLETPLKY KOTA

-aplOuog dovtiwv Z=1+1
-Oldpuetpog 10-20mm
-KUNVOPIKS KOTOAVL
-akida tpurmuarog HM
-KOTT] PWIPIONATOG (TENKY] ETUPAVELQ)

-Ta poUTep ouvodelovtal and Rida pubuicewg yia dlapopa Urkn

TAIPIAZEI ZE

eNAOTIKA KOAETG, OpIkTipeg HYDRO

TYNOI MHXANQN

auTouaTa Kat Xelpokivnta router
pnxavég kat kévrpa katepyaoiag CNC

YAIKO

poplooavida kat MDF akatépyaota 1} pe JeAapivn, KamAapdg Kat CUMTIECUEVA

eNdopara, okAnpd EUAQ KATT

-re-sharpenable diamond router with cylindrical shank

-re-sharpening possibilities: 1-2 times

-for boring and edging
-number of teeth Z=1+1
-diameters 10-20mm

-cylindrical shank
-HM boring tip

-good panel-edge finish

-routers supplied with adjustment screw for length variation

FITS ON TO

elastic collet and hydro chucks

FOR USE ON MACHINES TYPES

automatic and manual router
machines and CNC work centers

MATERIAL

particleboard and MDF boards, both raw or with melamine, veneer and foil lami-

nated, hardwoods etc

1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1
1+1

12x40
25x55
12x40
25x55
16x40
25x55
16x40
25x55
16x40
18x50
20x50
25x55
16x40
18x50
20x50
25x55
16x40
20x50
25x55
20x55
25x55






s_ TYMNOI KOAETS - TYPE OF CHUCKS

SCM/MORBITELI HSK-63F BIESSE

@8




TZOK - CHUCK

KQAIKOZ D L TYNO> KOAETZ
6001-10-003 W404 50 55 ER32 (6001-11)
6001-10-013 W426 60 72 ORT25A (6001-15)
6001-10-014 W422 63 72 ER40 (6001-14)
6001-10-035 W414LH 50 55 ER32 (6001-11)
SCM
MORBITELI

m TSOK - CHUCK

KQAIKOX D L TYNOZ KOAETZ
6001-10-W516 TIR 50 67 ER32 (6001-11)
6001-10-W516 50 67 ER32 (6001-11)
— 6001-10-W507 TIR 50 56 ER32 (6001-11)
6001-10-W507 50 56 ER32 (6001-11)
MASTERWOOD
BUSELLATO

83 418




TZOK - CHUCK

KQAIKOZ D L TYNOZ KOAETZ
6001-10-002 W507B TIR 50 46 ER32 (6001-11)
6001-10-W502 TIR 50 50 ER32 (6001-11)
6001-10-W502 50 50 ER32 (6001-11)
6001-10-W504 LH TIR 50 50 ER32 (6001-11)
6001-10-W504-LH 50 50 ER32 (6001-11)
6001-10-W522 TIR 60 63 ER40 (6001-14)
6001-10-W522 60 63 ER40 (6001-14)
6001-10-W526 TIR 60 60 ORT25 (6001-15)
6001-10-W526 60 60 ORT25 (6001-15)
BIESSE
TZOK - CHUCK
KQAIKOX NMEPIFPA®H TYNOX KOAETX
6001-10-004-W905 M30x1,5 ER32 (6001-11)
6001-10-039-W904 D20x14x1 ER32 (6001-11)
KM2
TZOK HSK 63F - CHUCK
KQAIKOX D L TYNOZ KOAETZ
6001-10-009 WF222 63 76,5 ER40 (6001-14)
6001-10-016 WF226 60 76,5 ORT25A (6001-15)
6001-10-025 WF204 50 72,5 ER32 (6001-11)
6001-10-036 WF232 63 76,5 [ER40AP. (6001-14)
6001-10-037 WF214 50 72,5 ER32 AP. (6001-11)
6001-10-038 WF236 60 76,5 ORT25 AP. (6001-14)

HSK-63F

@84




A=ONEZ - TOOL HOLDERS ,‘

KQAIKOZ L d MNEPIrPA®H
6001-10-012-W542 93 30 ISO 30
6001-10-007-W544 103 30 ISO 30
6001-10-034 W541 73 30 ISO 30

BIESSE

AZONEZ - TOOL HOLDERS ,‘

KQAIKOZ L d MNEPITrPA®H
6001-10-033-W442 93 30 ER32
6001-10-006-W444 103 30 ER32

¥ SCM

. MORBIDELLI

A=ONEZ - TOOL HOLDERS ,‘

KQAIKOX L d NEPIrPA®H
6001-10-023 WF242 93 30 HSK 63F
6001-10-035 W244 103 30 HSK 63F
6001-10-029-WF246 123 30 HSK 63F

HSK-63F

85 418




2YITKPATHZEIZ - PULLING STUDS

KQAIKOZ D L d
6001-10-208 12 44 M12
KQAIKOZ D L d
a8 6001-10-201 12 44 M12
L |
o o ‘ o
\ 1
KQAIKOZ D L d
6001-10-209 13 44 M12
KQAIKOZ D L d
6001-10-206 13 44 M12
=
KQAIKOX D L d
6001-10-207 8.5 42 M10
iz
KQAIKOZ D L d
6001-10-204 12.8 44 M12
Y
5 =
L
KQAIKOX D L d
6001-10-210 12 44 M12
Y
) =
A

@86




0t

0109

KOAETZ ®PEZAZ - COLLETS
KQAIKOZ. D MEPIT PAGH
6001-12-600 6 24x31
6001-12-635 6,35 (1/4) 24x31
6001-12-800 8 (3/16) 24x31
6001-12-950 9,50 (3/8) 24x31
6001-12-100 10 24x31
6001-12-120 12 24x31
6001-12-127 12,7 (1/2) 24x31
6001-12-114 14 24x31
BIMHKE KOAETE CNC - COLLETS CNC
27 KQAIKOZ. D MEPIT PAGH
6001-09-060 6 24x27 R9
6001-09-635 6,35 24x27 R9
6001-09-080 8 24x27 R9
e 6001-09-095 95 24x27 R9
6001-09-100 10 24x27 R9
— 6001-09-120 12 24x27 R9
S 6001-09-127 12,7 24x27 R9
_ 6001-09-140 14 24x27 R9
W 6001-09-160 16 24x27 R9
BIMHKE KOAETZ CNC - COLLETS CNC
KQAIKOZ D MEPIT PAGH
0 6001-11-0302 32 33x40 ER32
= — 6001-11-4/3 4-3 33x40 ER32
i e 6001-11-0504 5-4 33x40 ER32
6001-11-0506 6-5 33x40 ER32
2 6001-11-6,35 6,35 33x40 ER32
Q 6001-11-0607 7-6 33x40 ER32
6001-11-0708 8-7 33x40 ER32
N— | 6001-11-0809 9-8 33x40 ER32
6001-11-0910 10-9 33x40 ER32
6001-11-1011 11-10 33x40 ER32
6001-11-1112 12-11 33x40 ER32
6001-11-1213 13-12 33x40 ER32
6001-11-1314 14-13 33x40 ER32
6001-11-1516 16-15 33x40 ER32
6001-11-1718 18-17 33x40 ER32
6001-11-1819 19-18 33x40 ER32
6001-11-1920 20-19 33x40 ER32

87 A8




KOAETZ CNC - COLLETS CNC

KQAIKOS D MEPIFPA®H
i 6001-14-0605 6-5 41x46 ER40
— 6001-14-0706 7-6 41x46 ER40
p—— 6001-14-0708 8-7 41x46 ER40
FH 6001-14-0910 10-9 41x46 ER40
= " 6001-14-1112 12-11 41x46 ER40
a g 6001-14-1213 13-12 41x46 ER40
i 6001-14-1314 14-13 41x46 ER40
o 6001-14-1516 16-15 41x46 ER40
~N e 6001-14-1718 18-17 41x46 ER40
6001-14-1819 19-18 41x46 ER40
6001-14-1920 20-19 41x46 ER40
6001-14-2425 25-24 41x46 ER40
6001-14-6,35 6,35 41x46 ER40

KOAETZ CNC - COLLETS CNC
. 52 . 6001-15-03 3 35x52 ORT
e 6001-15-04 4 35x52 ORT
1 6001-15-05 5 35x52 ORT
6001-15-06 6 35x52 ORT
- 6001-15-0635 6,35 35x52 ORT
6001-15-07 7 35x52 ORT
i 6001-15-08 8 35x52 ORT
N — 6001-15-0950 9,50 35x52 ORT
6001-15-10 10 35x52 ORT
6001-15-12 12 35x52 ORT
6001-15-13 13 35x52 ORT
6001-15-14 14 35x52 ORT
6001-15-16 16 35x52 ORT
6001-15-18 18 35x52 ORT
6001-15-20 20 35x52 ORT
6001-15-25 25 35x52 ORT
KOAETZ CNC - COLLETS CNC

% KQAIKOZ D MEPIFPA®H
—_— 6001-17-0302 3-2 26x34 ER25
AT~ 6001-17-0403 4-3 26x34 ER25
6001-17-0504 5-4 26x34 ER25
o 8 6001-17-0605 6-5 26x34 ER25
8 6001-17-0706 7-6 26x34 ER25
a p— 6001-17-0807 8-7 26x34 ER25
N 6001-17-0908 9-8 26x34 ER25
6001-17-1009 10-9 26x34 ER25
6001-17-1110 11-10 26x34 ER25
6001-17-1211 12-11 26x34 ER25
6001-17-1312 13-12 26x34 ER25
6001-17-1314 14-13 26x34 ER25
6001-17-1514 15-14 26x34 ER25
6001-17-1615 16-15 26x34 ER25

@ 88




—2
on

@17

@

KOAETZ CNC - COLLETS CNC
KQAIKOZ D NEPITPA®H
6001-18-0605 6 11x18 ER11
6001-18-6.35 6,35 11x18 ER11
6001-18-0706 7-6,35 11x18 ER11
KOAETZ CNC - COLLETS CNC
KQAIKOZ D MNEPIrPA®H
6001-19-0605 6-5 17x28 ER16
6001-19-08-07 8-7 17x28 ER16
6001-19-1009 10-9 17x28 ER16
KOAETZ CNC - COLLETS CNC
KQAIKOZ D MEPITPA®H
6001-20-0605 6-5 21x32 ER20
6001-20-0807 8-7 21x32 ER20
6001-20-1009 10-9 21x32 ER20
6001-20-1211 12-11 21x32 ER20
6001-20-12712 12,7-12 21x32 ER20
6001-20-1312 13-12 21x32 ER20
MA=IMAAIA - NUTS
KQAIKOZ NEPIFPA®H
6001-13-01 KM2 M1-1/8W/20x14W
6001-13-03 KM2 M1-1/8W/30x1,5

6001-13-02W970 KM2 M33x3/M30x1,5
6001-13-W979 KM2 D45 M34x2,5/M30x1,5
6001-13-W973 KM2 M34x3/M30x1,5
6001-13-04 KM2 M30x1,5
6001-13-W981 KM2 D45 M34x2,5/M20x14
6001-13-W977 KM2 D45 M33x3/W20x14

6001-13-W975 KM2 D45 M34x3/W20x14

6001-13-05 ER 32 WF507
6001-13-10-W987S ER25 W987S
6001-13-06 SGH ER11
6001-13-07 SGH ER16
6001-13-08 SGH ER20
6001-13-09 ORT 25 D60 WF226

89 418




2HMEIQZEIZ

Y




2HMEIQZEIZ

|91 18D



HARTMETALL

BIMHKE ABEE

www.bimike.gr e info@bimike.gr



HARTMETALL

BIMHKE ABEE

KATAZKEYH & EMMNOOPIA KOMTIKQN EPrAAEIQN
EAPA: ®IAIKQN 5, 121 31 TEPIZTEPI
EPrOZTAZIO: KPYZTAAAH 28, 121 31 TMEPIZTEPI
THA.: 210 5751920 e FAX: 210 5773469

www.bimike.gr e info@bimike.gr

210 9212446-1

[u]
o
B
[0}
o
£




	01-08.pdf
	09-16.pdf
	17-24.pdf
	25-31.pdf
	32-39.pdf
	40-48.pdf
	49-56.pdf
	57-66.pdf
	67-74.pdf
	75-80.pdf
	81-86.pdf
	87-92.pdf



